UGC NET 2021 Criminology

Topic:- 68Crim_A

1) Match List | with List I

List I List IT

A. Willingness to inform the police I. NCRB

B. Unrecorded Crime Il. Recording Rate
C. Police manipulating the crime Statistics lll. Dark figure

D. Crime Statistics in India IV. Reporting Rate

Choose the correct answer from the options given below:
(1H)A-IV,B-Illl,C-II,D-1 (2)A-1,B-1l,C-1ll,D-1V

B)A-IV,B-1I,C-1Il,D-1 (4)A-1I,B-1IV,C-1,D-1I
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[Question ID = 3355][Question Description = Q01_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 12883]
2.2

[Option ID = 12884]
3.3

[Option ID = 12885]
4. 4

[Option ID = 12886]

2) Match List | with List Il

List | List Il

A. Facebook, Instagram, WhatsApp I. Print Media

B. Analysis of the make up of a media Il. Electronic Media
C. TV, Private Channels, Satellite Channels Ill. Social Media

D. News Papers, Journals IV. Contents Analysis




Choose the correct answer from the options given below:
(1) A-IV,B-1lll,C-1l,D-1
(2) A-1,B-1,C-NIl,D-1V
3) A-1,B-1V,C-1l,D-1
(4) A-IV,B-lll,C-1,D-1
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(3) A TLLB-IV.C-ILD-1
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[Question ID = 3356][Question Description = Q02_Criminology_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 12887]
2.2

[Option ID = 12888]
3.3

[Option ID = 12889]
4. 4

[Option ID = 12890]

3) Match List | with List I

List | List Il

A. Association I. Karl Pearson’s Correlation

B. Standard Deviation Il. Sequential Equation Modelling (SEM)
C. Coefficient Ill. Chi-Square

D. Causal Relationship IV. Univariate Analysis

Choose the correct answer from the options given below:
(1) A-IV,B-UI,C-1l,D-1I
(2) A-1,B-1I,C-1I,D-1IV
(3) A-IV,B-lI,C-1,D-1
(4) A-lllLB-IV,C-I,D-1l
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(1) A-IV.B-III.C-IL.D-1
(2) A-LB-ILC-III.D-IV
(3) A-IV.B-IILC-1.D-II

4) A-MMI.B-IV.C-L.D-1II

[Question ID = 3357][Question Description = Q03_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12891]
2.2

[Option ID = 12892]
3.3

[Option ID = 12893]
4. 4

[Option ID = 12894]

4) Match List | with List Il

List | List Il

A. Left and Right end points of a class Interval I. Continuous Variable

B. Subjects who do not receive Treatment Il. Distance Variable

C. Exact Age, Exact Height temperature lll. Class Boundary

D. Aadhar Number, Number of People in family|lV. Control group

Choose the correct answer from the options given below:
(1) A-IV,B-1ll,C-1II,D-1

(2) A-1V,B-1,C-1l,D-1

(3) A-1I,B-1V,C-1,D-1

(4 A-1,B-1IvV,C-1I,D-1I
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[Question ID = 3358][Question Description = Q04_Criminology_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 12895]
2.2

[Option ID = 12896]
3.3

[Option ID = 12897]
4. 4

[Option ID = 12898]

5) Match List | with List I

List |

List Il

A. Graphically representing groups of
Numerical

I. Boxplot data through the Quartiles

B. Plot Summarizing how data is distributed

Il. Pie Chart

C. XY Graph

lll. Histogram

D. Representing data in a Circular graph

IV. Line Graph

Choose the correct answer from the options given below:

(1) A-1,B-1I,C-1I,D-1V
(2) A-I,B-Ill,C-1v,D-1
3) A-1I,B-IV,C-1,D-1l
(4) A-1,B-1,C-1l,D-1IV
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[Question ID = 3359][Question Description = Q05_Criminology_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 12899]
2.2

[Option ID = 12900]
3.3

[Option ID = 12901]
4. 4

[Option ID = 12902]

6) Match List | with List Il




List | List Il

A. The Crime of obtaining key pieces of Personal Information I.  Misogyny

B. Murder of Son or Daughter Il. Stalking

C. Unwanted contact that communicates threat/fear Ill. Identify theft
D. Hatred for Women IV. Filicide

Choose the correct answer from the options given below:
(1) A-IV,B-Il,C-1ll,D-1
(2) A-1,B-IV,C-II,D-1
3) A-1,B-1l,C-1I,D-1V
(4) A-IV,B-1ll,C-1l,D-1

T TR 0 @ g A

adi-1 ol -1T

o o

A dafeds gael & Hgedqul dzal $I WIed Flel F1 AW L A gdy

B. 97 a1 T4 F gear 1. 9T Ear
C. JaitSd d9F (S8 @au a1 9T F1 J9H i & I 3 EAar T
D. Afgensit & gfd gom IV. el gedr
s BT 91 el # 8§ §E 3a g0 ¢

(1) A-IVB-II.LC-III.LD -1
(2 A-TIILB-IV.C-IL.D -1
(3) A-LB-ILC-TII,D-IV

(4) A-IV.B-III.L.C-II.D -1
[Question ID = 3360][Question Description = Q06_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 12903]
2.2

[Option ID = 12904]
3.3

[Option ID = 12905]
4. 4

[Option ID = 12906]

7) Match List | with List Il

List | List Il

A. 24*7 telephone service for Children I. 1098

B. Housing related support services to victims Il. Children Home

C. Housing related to juvenile in conflict with law Ill. Shelter/safe house
D. Housing related to neglected Children IV. Juvenile Home

Choose the correct answer from the options given below:
1) A-1,B-1I,C-1IV,D-1I

(2) A-1,B-1,C-NIl,D-1V

(3) A-IV,B-1I,C-1I,D-1I

(4) A-NILB-1,C-1I,D-1V
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[Question ID = 3361][Question Description = Q07_Criminology_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 12907]
2.2

[Option ID = 12908]
3.3

[Option ID = 12909]
4. 4

[Option ID = 12910]

8)  Match List I with List IT

ListI

List IT

2

Female Criminality

1.

Female Crime Rate

II. Otto Pollack

Pink Crime

II1. Gender Ratio Problem

SIElE:

Feminist Criminology

IV. Female Office Workers

Choose the correct answer from the options given below:

(1) A-IIILB-II. C-1. D-1IV
(2) A-IV.B-III.C-II. D-1I
(3) A-II. B-III. C-IV.D-1
(4) A-I. B-II. C-IILD-1IV
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(3) A-II, B-OIL. C-IV.D -1
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[Question ID = 3362][Question Description = Q08_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 12911]
2.2

[Option ID = 12912]
3.3

[Option ID = 12913]
4. 4

[Option ID = 12914]

9) Match List | with List Il

List | List Il
A. Symptoms on Cessation of Psychoactive Substance I. Withdrawal Symptom|
B. Advance effect of Drug use Il. Addiction
C. Repeated use of Psychoactive substance Ill. Aversion Therapy
!). Sl:lppreSSl‘ng undeSIra‘ble behavior associating V. Bad trip
it With a painful experience
Choose the correct answer from the options given below:
(1) A-1,B-1V,C-11,D-1lI
(2) A-IV,B-1,C-1l,D-1
3) A-1,B-1l,C-1ll,D-1V
(4) A-1IV,B-1ll,C-1l,D-1
dr L e -1 @ gaAfad Aifse
o 1 e -
Laffade
A FT-JAMET Igrf T gAEIfea F Terator _
HelaTum
B. AlGHIGHE &I 3T JHE IL. &1
I s
C HeA: gl 9y &l 9 a1 94197
D. Haifdd cadgR # Rl géeli 3eperd @ wgAifeia
IV. ds fea
&l FIHPI gHeA hidl

e QU AT [@wedt A A HEN Feck gl ¢

(1) A-LB-IV.C-II.D-II1

(2) A-IV.B-I.C-III.L.D -11

(3) A-LB-ILC-IIL.D-1IV

(4) A-TV.B-TIIL,C-II.D -1
[Question ID = 3363][Question Description = Q09_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 12915]
2.2

[Option ID = 12916]
3.3

[Option ID = 12917]
4. 4

[Option ID = 12918]



10) Match List | with List Il

List | List Il

A. Endocrine Glands I. Animism

B. Demonology Il. Reality Principle
C. Freud Ill. Hormones

D. Eysenck IV. Personality

Choose the correct answer from the options given below:
(1) A-1,B-1I,C-1V,D-1l
(2) A-1,B-1l,C-1I,D- IV
(3) A-IV,B-1I,C-1l,D-I
(4) A-NIL,B-1,C-1,D-1V
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[Question ID = 3364][Question Description = Q10_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12919]
2.2

[Option ID = 12920]
3.3

[Option ID = 12921]
4. 4

[Option ID = 12922]

11) Match List | with List Il

List | List Il

A. Policy I. Quantitative Research
B. Words 1l. Plagiarism

C. Academic Fraud Ill. Translative Criminology
D. Numbers IV. Qualitative Research

Choose the correct answer from the options given below:
1) A-1IV,B-1ll,C-1l,D-1
(2) A-1,B-IV,C-1II,D-1
3) A-IV,B-1ll,C-1,D-1l



(4) A-1,B-I,C-IlIl,D-1V
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[Question ID = 3365][Question Description = Q11_Criminology_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 12923]
2.2

[Option ID = 12924]
3.3

[Option ID = 12925]
4. 4

[Option ID = 12926]

12) Match List | with List Il

List | List Il

A. Psychic Anomaly I. Garofalo
B. Father of Modern Penology Il. Lombroso
C. Law of Saturation lll. Beccaria

D. Father of Scientific Criminology IV. Ferri

Choose the correct answer from the options given below:
1) A-II,B-1,C-1IV,D-1I
(2) A-1,B-Il,C-lll,D-1V
(3) A-1,B-1I,C-1IV,D-1I
(4) A-IV,B-1ll,C-1,D-1I
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(1) A-IMTB-I.C-IV.D-II
(2) A-LB-IL.C-TI.D-IV
(3) A-LB-III.C-IV.D-II

(4) A-IV.B-NIILC-TI.D-I

[Question ID = 3366][Question Description = Q12_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 12927]
2.2

[Option ID = 12928]
3.3

[Option ID = 12929]
4. 4

[Option ID = 12930]

13) Match List | with List Il

List | List Il

A. Arrest Guidelines
I. Vishaka case

B. Juveniles related Guidelines Il. Charles Shobraj cases
C. Gender Harassment Guidelines lll. D.K. Basu case
D. Prison Reforms IV. Sheela Barse case

Choose the correct answer from the options given below:
(1) A-UI,B-IV, C-1,D-1l
(2) A-IV,B-1ll,C-1,D-1I
(3) A-1,B-1,C-1I,D-1V
(4) A-IV,B-1,C-11,D-1lI
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[Question ID = 3367][Question Description = Q13_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12931]
2.2

[Option ID = 12932]



3.3

[Option ID = 12933]
4. 4

[Option ID = 12934]

14) Match List | with List Il

List | List Il

A. A total created from small units I. Correlation
B. A theoretical creation that cannot be directly observed Il. Aggregate
C. A relationship between variables lll. Construct
D. The degree to which two variables are related IV. Association

Choose the correct answer from the options given below:
(1) A-1,B-1I,C-IV,D-1
(2) A-I,B-Il,C-1ll,D-1IV
3) A-IvV,B-1lll,C-1l,D-1
(4) A-1,B-1l,C-1,D-1IV
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[Question ID = 3368][Question Description = Q14_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12935]
2.2

[Option ID = 12936]
3.3

[Option ID = 12937]
4. 4

[Option ID = 12938]

15) Match List | with List Il

List | List Il

A. Average, middle and most common score of a

I. Causal relationshi
frequency distribution P

B. Relationship between cause of effect estimation

. Il. Variance
in survey

C. A intensive investigation of current and past lll. Central Tendency

D. Boot strapping IV. Case Study



Choose the correct answer from the options given below:
1) A-1,B-1l,C-1v,D-1I
(2) A-1,B-Il,C-1I,D-1IV
3) A-IV,B-1lll,C-1l,D-1
(4) A-1,B-1,C-1V,D-1l
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[Question ID = 3369][Question Description = Q15_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12939]
2.2

[Option ID = 12940]
3.3

[Option ID = 12941]
4. 4

[Option ID = 12942]
16) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Positivism in Criminology is associated with writers like Cesare Lombroso.

Reason R : Cesare Lombroso was referred to as the ‘father of Modern Criminology’

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
3) A is correct but R is not correct

(4) A is not correct but R is correct
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[Question ID = 3370][Question Description = Q16_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 12943]
2.2

[Option ID = 12944]
3.3

[Option ID = 12945]
4. 4
[Option ID = 12946]
17) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Cyberspace is monitored by Internet Service provider(s) and indeed, Police.

Reason R : The Challenge to Police is that of Jurisdiction. There may be many problems faced by police in enforcing
domestic criminal laws across international boundaries.

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct
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[Question ID = 3371][Question Description = Q17_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 12947]
2.2

[Option ID = 12948]
3.3



[Option ID = 12949]
4. 4

[Option ID = 12950]
18) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : People sometimes decide not to report crimes to police.

Reason R : This happens when the Victim considers the crime to be too trivial (or) when they feel that police will not be
able to do anything.

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

A 37 Fua BT AT § : vF e (A) 3R g # a6 (R) FET T G

sifdree (A) el ft AT gferd &1 STORT T [Ee 6T el & I o &

aF (R) - gy 0T Rufa & Qiar & o9 G2 aafea 3O & Hgcdeld SHSIdT & 3remar
S @ "Ed § i 9oy o ag e gree

SUEd FUA & el 3 el Aol 7 F wdifds sUged ek T
(1) A3l Rewl & 8 3k R, A ST wér s 8

(2 AR R @6 § Wed R, AHT TE e w8 ¢

(3 AW & Wed REE 70 £

(49  AE ¢ ¢ Red R & o

[Question ID = 3372][Question Description = Q18_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12951]
2.2

[Option ID = 12952]
3.3

[Option ID = 12953]
4. 4

[Option ID = 12954]
19) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The main aim of the Self-Report studies is to develop a more accurate measure of the extent of crime.

Reason R : Self-Report studies avoid the problems of non-reporting and non-recording, associated with Police-Recoded
Statistics

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

Y e wue T e § ¢ e & e () 3R gEy @ ad (R) & I g



JFTA (A) : T-RAE FTTA T ACT 32T HRE &1 TRar &1 3R 31 7é T
A9 el &

a% (R) . TR e A 9few ganr Res fhw v et & wafa ROiE a8 e
S 3R RS A T ST i FEeIns # 9ReR o ¢

SHEa FuA & el # fted eed # § waiftE S S o -
(1) A3R R e ¢ 3R R, A agr & gl

(2) AR R 61 § 9ed R, A& @@ sarear 7 )

(3) AW § Wed RE

(4 AWH AG § Wed REE T

[Question ID = 3373][Question Description = Q19_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12955]
2.2

[Option ID = 12956]
3.3

[Option ID = 12957]
4. 4
[Option ID = 12958]

20) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Capitalism shapes social institutions, social identities, and social action. Capitalism creates class conflict and
contradictions.

Reason R : Crime is not a response to Capitalism and its contradictious

In light of the above statements, choose the most appropriate answer from the options given below
1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

oA &7 duet U aIw § : ueh @1 e (A) 3R @Y @ & (R) HET I g

IAFFUA (A) : Tollare ¥ wAfos s, Tt JIRAD 3R s vad & W@
fe#ioT giar . gsfiarg & giomATasy @@ @ud 3 Faferer scdea glar §.

aF (R) - 3T Golarg 3R sHeh Al & WeclodX TRl 6.

SE AT I I Thd RAwedt ¥ ¥ WeifiE IUged Sk I |
() AR Reer @ § 3t R, A $r o s g

(20 AR REW @8 § Weg R, AHT 6@ s A8 b

(3) AW & Wed RUE a6 &l

(4 AW AG § Wed R &

[Question ID = 3374][Question Description = Q20_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1



[Option ID = 12959]
2.2

[Option ID = 12960]
3.3

[Option ID = 12961]
4. 4

[Option ID = 12962]
21) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Withdrawal Symptoms occurs when the drug use is stopped by the drug dependent.

Reason R : It is associated with pleasant psychological and physiological symptoms.

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
3) A is correct but R is not correct

(4) A is not correct but R is correct

A ar @uet BU aw § o ves @ i (A) 3K gEY @ & (R) e R g

AT (A) - AfFaas Tewior 6 Bufg & gar ¢ e el sESr mes et & ower

FET d€ T ol .

a® (R) . UF g Adldaee eRRRIHS HereT § dgaifeid g

ST ol & e 3 R Aot A & weif SR et T
()  A3N ReH &1 ¢ 3R R, AH 6@ =re ¢

(2 AR R & § T R, A GG e a9

(3) AW b Wed RHE A B

(49 AW AG ¢ Wed R &1

[Question ID = 3375][Question Description = Q21_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12963]
2.2

[Option ID = 12964]
3.3

[Option ID = 12965]
4. 4

[Option ID = 12966]
22) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Associated with the problems of poverty and unemployment is the problem of beggary which is a social
problem.

Reason R : While poverty, unremunerative agriculture are reasons for beggary, begging is quite often caried out in
organized gangs, especially in case of child beggary.

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A



(3) A is correct but R is not correct

(4) A is not correct but R is correct
oA g1 e few AT § : ves @ sAfEeua () 3 gE & & (R) @ a4 g
e (A) - Torderar 3R SeEmT § S Fegica & THTAT Ua AT GACT §.

a@#® (R) . Saf fEaan e #9 famgica & sror §, Bemea @dw &7 a ame
TBTaTIes & SRR |afed a1 canr f&ar Jrar §.

3udET duel & Melia A fawiend [ahedl A & Feifbasuged seok =@
(1)  A3R Ree @l ¢ 3R R AH @l =are g

@ AR Ra W@ § Weq R, A w8 e 78 8

(3) AW & Wed R & AT G

(4 AW AT § ed REW &

[Question ID = 3376][Question Description = Q22_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12967]
2.2

[Option ID = 12968]
3.3

[Option ID = 12969]
4. 4
[Option ID = 12970]

23) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : LGBTQ is an acronym for Lesbian, Gay, Bisexual, Transgender and Queer
Reason R : These terms are used to describe be a person’s sexual orientation or gender.

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

A & @ue feu v § ¢ us @1 s (A) AR g@ # ad (R) Fer a4 g

HiFFUT (A) : TASHIER, TATaa. . 915 Hagaiel, cifeist I fFaa ar adeafeder &
qftaeff §

% (R) . o USl o wEeT safad & diF faea aeEr Sis fr s W= F e
&R ST &

IET FUA & 3w H efad aeedt # & T 3089d 3ol 99 ¢
(1) A3k Raat afr g 3t R, A & afy carear g1

(20 AR Reel @8 § Wed R, A& @@ sarer a1 8



(3) AW ¥ Wed R W 7 &
(49 AT ¢ § Wed REE L

[Question ID = 3377][Question Description = Q23_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12971]
2.2

[Option ID = 12972]
3.3

[Option ID = 12973]
4. 4

[Option ID = 12974]

24) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Corporate Crimes are committed by big Corporations and are also known as Organizational or Occupational
Crimes

Reason R : Bribery, Counterfeiting, embezzlement, bank fraud and blackmail etc are various types of corporate crimes

In light of the above statements, choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

A g @ fow are § : ve @ sfere (A) 3k gy @ ad (R) 6T T §

HAfEFe (A) - FURe AR 93 wrdle Fes @ #1a fFe 9 83N s edarcas
Hqar FeamardTde FeT & 8 gaAe & Sdar 6.

%+ (R) - FegaEl | STeEe, 9. 8F aEnE 3R S saafe Afies e F
FOe U &

SUdEd e & 3ol # Tt fadedt & ¥ TS SRET et T

() AR R &1 ¢ 31K R AF o & ¢

(2) AR R 9@ § weg R, AH @8 e a6 8

(3) AW W] REG At ¢

(4) AW A § Weg RES E

[Question ID = 3378][Question Description = Q24_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 12975]
2.2

[Option ID = 12976]
3.3

[Option ID = 12977]
4. 4
[Option ID = 12978]

25) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Terrorism provokes deep fear and insecurity more than other forms of violence.



Reason R: Cause of terrorism can be divided into four levels: Individual, Rational, systemic and ideological

In light of the above statements, choose the most appropriate answer from the options given below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
3) A is correct but R is not correct

(4) A is not correct but R is correct

AT &7 Fue U AT § ;v @ s (A) 3R gEy & & (R) &er T

AHFAA (A) : HdFaG ¥ Fed FPR H G &1 golen A e s R G H A
& 9T 30T I &

@& (R) . IIdehdie, & FROT & 9X T & fawed &Far o1 a=ar ¢ cafses, aifees,
WoTleileTg 3R e @ smenia

SUHFT FAA & 3HTolieh A Teeeliehd fdeout 3 & welfwsuged Ieak Tel .
(1) AR Raa @8 ¢ 3 R, Ad &g sare g

2 AR R 98 § Weg R, AFT @ aamer 78 8

(3 AW § Wed R T AE G

@) AES AF ¢ Weg REH B

[Question ID = 3379][Question Description = Q25_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 12979]
2.2

[Option ID = 12980]
3.3

[Option ID = 12981]
4. 4

[Option ID = 12982]
26) How can mass media cause crime?
A. Labeling
B. Deviance amplification
C. A political commitment to social change
D. Creation of moral panic
Choose the correct answer from the options given below:
(1) A, Band D only (2) B, C and D only
(3) A, Band Conly (4) C and D only

ART HfEAT 3 & HROT ST ST Tl 57

A EEERCCIGH




LR stielbian Hixaoel o Hia <baaicsn Alosgol

D. Afa® s &1 wgar & Faor

A Rw 7 Redt F ¥ @ SeaT T
(1)  ¥a A B3RD

(2) ¥aer B,C3K D

(3) #aa A B3RC

(4) #aer C3R D

[Question ID = 3380][Question Description = Q26_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 12983]
2. 2 [Option ID = 12984]
3. 3 [Option ID = 12985]
4. 4 [Option ID = 12986]

27) The key elements of Feminist scholarship in criminology are
A. Gender is not a natural fact

B. Masculinity and Femineity are not symmetrical

C. Involves motivated offenders

D. Systems of knowledge reflect men’s view

Choose the correct answer from the options given below:

(1) A, Band Conly (2) B, C and D only

(3)Band Conly (4)A, Band D only
TR # AR rAdEaia & Hed ead

A S AEHE Tm g

B.  Toud 3R Afica aAfafas a8 §

C.  sud HEORE Iweh affe g §

D. @ & vonfol & q¥9 & efeesor ufafdfaa gar §

A Rw o faedt # § e Sea T |
(), FagA B3R C

(2)  &ael B,C3R D

(3) &ae B3k C

4) %Fas A B3kD

[Question ID = 3381][Question Description = Q27_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 12987]
2. 2 [Option ID = 12988]



3. 3 [Option ID = 12989]
4. 4 [Option ID = 12990]

28) Which of the following statements are correct in the context committing service of restorative justice?
A. Direct involvement by the victim and offender in a restorative process.

B. Social learning theory emanates from behavior theories of psychology.

C. Involvement of the community.

D. Community members and offender work side by side.

Choose the correct answer from the options given below:

(1) A, Band Conly (2) B, C and D only

(3) A, B, Cand Donly (4) A, C and D only

YeTeuiel A1 & dar IR &1 & Hogdl A Weafafaa & @ &l & Fuer W 67
A gereaeT ufthar # difsa sl srredt & gezar afercaan

B. wAfes sfHes fed & sacufcd AdaAe & caagR [ed & gidr §

C.  THe™ 1 Hfercadr

D. HHGH & Woed 3R el guiiddes &9 & & L §

oA fgu are feedh & & AT Scak I

(1) @Faad A B3k C

(2) Haa B.C3R D

3 ABC3RD

(4) %Faa A C3RD

[Question ID = 3382][Question Description = Q28_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 12991]
2. 2 [Option ID = 12992]
3. 3 [Option ID = 12993]
4. 4 [Option ID = 12994]

29) Focal concerns of lower class culture are

A. Trouble

B. Excitement

C. Toughness

D. Differential Applicability

Choose the correct answer from the options given below:
(1) A, Band Conly (2) A, Bonly

(3)C, Donly (4) A,B,C and D only
T ity Wl a1 AE efda # & 82

A HHRE



D. %B}amaﬁm‘lm

A e aTe fasedi & & W ek I ¢
(1) &aer A B3k C

(2) &ae A B

3 Faa CD

49 ABC3iRD

[Question ID = 3383][Question Description = Q29_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 12995]
2. 2 [Option ID = 12996]
3. 3 [Option ID = 12997]
4. 4 [Option ID = 12998]

30) Which among the following are true in the case of Cohen & Felson’s contribution to Criminology?
A. Absence of capable guardian

B. Location of immigrants

C. Motivated offenders

D. Value, portability, and desirability of target.

Choose the correct answer from the options given below:

(1) A, Band Conly (2)B, C and D only

(3)Band Conly (4) A, C and D only

ORI # Figed 3R hedel & TN F A A Fieari@d & & B O T T8 &7

A gAY fAAEE F A
B.  3Icyartadr f1 safeerfa
c.  3cRE el

D. e, dgradr AR ey $T ares=rgdr

e fw aw fawedt A & |8 3cal 99
(1) Sad A B3R cugrg

(2) Fad B.CIT DTS &

(3)  Fae B3R cudrE

(4 SadACIR DTS E

[Question ID = 3384][Question Description = Q30_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1



[Option ID = 12999]
2.2

[Option ID = 13000]
3.3

[Option ID = 13001]
4. 4

[Option ID = 13002]

Topic:- 68Crim_B
1) Read the following passage carefully and then answer the questions that follow.

Raising concern over misleading information and obscene content being shared on popular social media platforms such as
Facebook and YouTube, a Public Interest Litigation petition filed before the court sought a direction to the Centre to
regulate the content and form a panel of members to censor content on social media. The petitioner said that the Centre
must initiate steps to control, monitor, guide and regulate such content shared widely on social media platforms. Terming
the contents as disturbing and has psychological effect, apart from being hateful, misleading and involved cyber bullying.

e ey & taegEs gier 3R Re av wal & 3o

FAIH W YgIE TG AT HeaT T= W F WHe AHRRT A SAveier ATt e 6
1 T 2, 3| Tafaa grem =arerm & 9w Ush SAEd aifeent SR it TR 3| 39 SHiEd
TRt & WIEAW W AT ¥ gy R mn § TR 9y e w6 FEhe =t T aw ween
T UF FcT I4T0 AT TI9TA Hifeam W /il & FEata ® et sa A s & & &=
TToTer HiTZaT Bt U YrER i A1 T ATt o Em, sy, anieyie oiR Fame w6 o
FA0 AGYT IS ATHIHT HT GUITEAE, WTHE AR WIEER TS god a9 o |@1g 91y 39
TATSATH THTE STl 1 Uz el aTell el 74T 21

The raising concern, according to the paragraph is about
(1) Print media (2) Media

(3) Social Media (4) Phishing

el A Gefatad # O feas 9 7 F&ar sgad & & § 2
(1) e #@ifEr (2) iz
(8)  Hrarer HifEAT (4) Secdolc & AEAA § =Er gar (hfen)

[Question ID = 3385][Question Description = Q31_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13003]
2. 2 [Option ID = 13004]
3. 3 [Option ID = 13005]
4. 4 [Option ID = 13006]

2) Read the following passage carefully and then answer the questions that follow.

Raising concern over misleading information and obscene content being shared on popular social media platforms such as
Facebook and YouTube, a Public Interest Litigation petition filed before the court sought a direction to the Centre to
regulate the content and form a panel of members to censor content on social media. The petitioner said that the Centre
must initiate steps to control, monitor, guide and regulate such content shared widely on social media platforms. Terming
the contents as disturbing and has psychological effect, apart from being hateful, misleading and involved cyber bullying.

Rt gy #1 camqds TRe 3 R T sl & seaw Qi

FHIEH AR ggd 8 AIETAE ST Hel W A WHE WS AT AT T I A
T Gl 2, 3EE Tfaa gen =maTera o "wus Uk SATgd gTieht 99 Thi WET 2| 39 WHigd
TTTIT & WIEaH | IETEd | 909 T T 76 98 g &t Fehm =t 6 98 9=
T UF el S0 AT B9 Hiteam w |t =t fata =) arfees wat 3 w21 2 6 &2
Tivre Hifzan o=t W vER 1 91 A & e, sy, antavie R e E o



el AT 3STE| HTHAT ol YUMTE, dTHeh AR HIZEY =975 Tdd ddi+ o |19 |14 39
TATaATS THTE aTeil AR 95T et JTeil hel 74T 21

Which among the following reasons causes concern?
(1) Explicit crime details (2) Clean news

(3) Misleading information (4) Public interest litigation

frtefaa & & &9 aror &ar 3cae gidr 82

(1) s O faagor (2) Tqv TAEN
(3)  sHE g 4) <iAfga arfaer

[Question ID = 3386][Question Description = Q32_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13007]
2. 2 [Option ID = 13008]
3. 3 [Option ID = 13009]
4. 4 [Option ID = 13010]

3) Read the following passage carefully and then answer the questions that follow.

Raising concern over misleading information and obscene content being shared on popular social media platforms such as
Facebook and YouTube, a Public Interest Litigation petition filed before the court sought a direction to the Centre to
regulate the content and form a panel of members to censor content on social media. The petitioner said that the Centre
must initiate steps to control, monitor, guide and regulate such content shared widely on social media platforms. Terming
the contents as disturbing and has psychological effect, apart from being hateful, misleading and involved cyber bullying.

Rt gy #1 camqds e 3 R T sl & seaw i

FEGE AT YggA FH IS HSaT Hal WA FHE TSI AT ATATA AU I
T 2, 35 faa g ETes °F "us Uk AT gTieht 9N hi WET £ 39 SHied
TIIRT & WIEgH | IETEd | 909 TR T € 76 98 g &t FEhm =t 6 98 a5
T UF el S48 AT 9T Hiteam w |/t =t fFata =) ot wat 3 w21 2 6 &2
Ty Hifsan o=t w vER it A1 Anit & FEm, aadiem, antavie oR e & e
FI0 FGYY IS(C| AT H GRS, WIHE AR IR TEE gA a9 & A9 91y 39
THTEATHS THTE STeit AR Iqgd el STt gl T3T 2

Which among the following is a social media platform?
(1) Microsoft Excel (2) Microsoft Word

(3) Facebook (4) PowerPoint

fFafafaa & O w9 geer Higar wews § 2

(1) HASHETe T (2) HSHEFT a5
(3) s (4) graY warse

)

[Question ID = 3387][Question Description = Q33_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13011]
2. 2 [Option ID = 13012]
3. 3 [Option ID = 13013]
4. 4 [Option ID = 13014]

4) Read the following passage carefully and then answer the questions that follow.

Raising concern over misleading information and obscene content being shared on popular social media platforms such as
Facebook and YouTube, a Public Interest Litigation petition filed before the court sought a direction to the Centre to
regulate the content and form a panel of members to censor content on social media. The petitioner said that the Centre
must initiate steps to control, monitor, guide and regulate such content shared widely on social media platforms. Terming



the contents as disturbing and has psychological effect, apart from being hateful, misleading and involved cyber bullying.

frfaf@a gy & eaeqEs ufer AR R 7w weal & 3e) o -

FHIE AR YIS 6 TTHIAE HITSa1 A= W A WHF TSR A AT FTHAT T
AT @ 2, IO e e IETerE % Uny U WHed ST 9TE Y T 3| 39 wHied
IRt o HTSAW & AT | A TR man § R 9y e o FEfve =t T 9w wee
T Ueh el 99T AT AoTe Hifgan o wmit o Feta =) ot wat 3 w81 2 & @5
TTYTer HiTSaT =it U YR i A1 T At & fAEm, sgdieon, antevia o e & e
a9 AFYT TS| ATHHT HI GUITEAE, YTHh X AIga FaT3 Jod aa o @1 9y 30
TATERAT: THTE STeit 21T Iz el aTell el 14T 21

YouTube is a form of
(1) Print Media (2) Magazine

(3) Software  (4) Social Media

aegd ToFtled & & fargar w9 § 7

(1) Toee difz (2) g
(3) WIwRAW (4) drerer AfEaw

[Question ID = 3388][Question Description = Q34_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13015]
2. 2 [Option ID = 13016]
3. 3 [Option ID = 13017]
4. 4 [Option ID = 13018]

5) Read the following passage carefully and then answer the questions that follow.

Raising concern over misleading information and obscene content being shared on popular social media platforms such as
Facebook and YouTube, a Public Interest Litigation petition filed before the court sought a direction to the Centre to
regulate the content and form a panel of members to censor content on social media. The petitioner said that the Centre

must initiate steps to control, monitor, guide and regulate such content shared widely on social media platforms. Terming
the contents as disturbing and has psychological effect, apart from being hateful, misleading and involved cyber bullying.

frrafaf@a ey 1 camqas ufew 3R e v weal & seax &ifed -

HHTE AR Yggd Y AT HEAT A=l W A GHh AFHH A ATAT ATAAT T2 6
T 2, 35 faa g ETes °F "us Uk AT gTieht 9N hi WET £ 39 SHied
TRt & HISAW ¥ AT ° iy TR mn € R A e o FEe ot T 9w ween
T UF el S48 AT 9T Hiteam w |/t =t fFata =) ot wat 3 w21 2 6 &2
TTvre Hifgan o=t W vER 1 91 Anni & e, aadiae, aniEyie or e E e
®a9 EYY TS| ATHIH FH UMTEAE, YTHS R A5 TEUE o a9 & oy @y 39
TATERATH: THTE STt 31T g el aTeil el 19T 21

Who should take steps to censor the contents of social media?

(1) State Governments (2) Government of India

(3) Supreme Court (4) High Court

drerer Hifzar fr GeEl & 99 a1 & T 59 Fed 3oET aiige ?

(1) T i (2) #HRd TR

(3) ITgaA R (1) F=o G



[Question ID = 3389][Question Description = Q35_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13019]
2. 2 [Option ID = 13020]
3. 3 [Option ID = 13021]
4. 4 [Option ID = 13022]

Topic:- 68Crim_C
1) Read the following passage carefully and then answer the questions that follow.

These included deviation in head size and shape from the type common race from which the criminal came. Asymmetry of
the face, excessive dimension of the Jaw of check bones, eye defects and peculiarities; ears of unusual size or occasionally
small; nose twisted; chin receding, excessive length of arms supernumery fingers and toes; imbalance of the hemispheres of
the brain (asymmetry of Cranium).

Te=fafae ey & aeEs 9w ik e av wat § oW S

Sotd R T 3 3R R A st & wAeg Al TsoufAw uwT I AT, | 99t &
sraAfAfaE g, amer &1 AT & S f safaE A A aw ik afREae; scafas
&R &1 sferT, ARCASE & aemT & Fdc (FUTT F FEATATGE glar) WiFe o

The characteristics give in the above paragraph refers to which among the following
(1) Animism (2) The Female Offender

(3) Atavist (4) Classical School

sudera e A few are siisenaivE avr wfotaa # & fead gafta §7

(1)  Shaarg (2) Afgem 3roRTel
(3) TduIw (4) TRaRE facgme

o,

[Question ID = 3390][Question Description = Q36_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13023]
2. 2 [Option ID = 13024]
3. 3 [Option ID = 13025]
4. 4 [Option ID = 13026]

2) Read the following passage carefully and then answer the questions that follow.
These included deviation in head size and shape from the type common race from which the criminal came. Asymmetry of
the face, excessive dimension of the Jaw of check bones, eye defects and peculiarities; ears of unusual size or occasionally

small; nose twisted; chin receding, excessive length of arms supernumery fingers and toes; imbalance of the hemispheres of
the brain (asymmetry of Cranium).

fratafET g & eamgEs I A BT v gt F seaw

oot T F1 el i 3er A sl & e av IeofAs uwT § fagee, | 9t &
sAtAfdE g, e $ AfeE § S92 f s @A A7 v i e, sais
&R & 3pIforEn; ARCasE & e # A (e 1 FATATIF gle) anfder =

Which among the following refers to the physical characteristics?
(1) Anxiousness (2) Head size and shape

(3) Stress ridden  (4) Lack of interest



frifafag & O a=r aiifts fadvar & gedfaa §2

() far (2) & & smpfa 3tk 3R
(3) ddAEIEd (4) TSR F7 3

[Question ID = 3391][Question Description = Q37_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13027]
2. 2 [Option ID = 13028]
3. 3 [Option ID = 13029]
4. 4 [Option ID = 13030]

3) Read the following passage carefully and then answer the questions that follow.

These included deviation in head size and shape from the type common race from which the criminal came. Asymmetry of
the face, excessive dimension of the Jaw of check bones, eye defects and peculiarities; ears of unusual size or occasionally
small; nose twisted; chin receding, excessive length of arms supernumery fingers and toes; imbalance of the hemispheres of
the brain (asymmetry of Cranium).

e e #t caeEs Ifer ik Re av wat § o

sofd] 8T & 3l 3l R A IaufeRt & aHea Al geosfAd e & faueet, . 98t &
sraAfAfaE g, e dr AT & S & FAEE @A A7 Qv R TfREEae;  swhs
& & 3ppforan; ARTSE & e # S (T 1 SATATIF glen) enfaer =

The person described in the above paragraph, exhibits a variety of
(1) Neutral Characteristics (2) Physical Characteristics

(3) Psychic anomaly (4) Psychiatric illness

3udiEra ey A aftia cafda # farafafaa # & feadr fafaear g ag §2

(1) dee &@ewar (2) emiie fadwar
(3) ATaE AEIa (4) FAAERCHT $30TaT

[Question ID = 3392][Question Description = Q38_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13031]
2. 2 [Option ID = 13032]
3. 3 [Option ID = 13033]
4. 4 [Option ID = 13034]

4) Read the following passage carefully and then answer the questions that follow.

These included deviation in head size and shape from the type common race from which the criminal came. Asymmetry of
the face, excessive dimension of the Jaw of check bones, eye defects and peculiarities; ears of unusual size or occasionally
small; nose twisted; chin receding, excessive length of arms supernumery fingers and toes; imbalance of the hemispheres of
the brain (asymmetry of Cranium).

e e #t caeEs Ifer ik Re av wat § o

sofd] 8T & 3l 3l R A IaufeRt & aHea Al geosfAd e & faueet, . 98t &
sraAfAfaE g, e dr AT & S & FAEE @A A7 Qv R TfREEae;  swhs
& & 3ppforan; ARTSE & e # S (T 1 SATATIF glen) enfaer =

The characteristics prove which among the following



(1) Crime is normal (2) Crime is functional

(3) Punishment should fit the crime (4) Criminals are born

SoT JifFEaTONR AN & &= g er 67
(1) 3 939 &
(2) T YEEICHS §

(3)  EUS WY F HeJET gl AT
(4) T AR Sed § F9UEH e ©

[Question ID = 3393][Question Description = Q39_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13035]
2. 2 [Option ID = 13036]
3. 3 [Option ID = 13037]
4. 4 [Option ID = 13038]

5) Read the following passage carefully and then answer the questions that follow.
These included deviation in head size and shape from the type common race from which the criminal came. Asymmetry of
the face, excessive dimension of the Jaw of check bones, eye defects and peculiarities; ears of unusual size or occasionally

small; nose twisted; chin receding, excessive length of arms supernumery fingers and toes; imbalance of the hemispheres of
the brain (asymmetry of Cranium).

Fe=fafae ey & aeEs Tike 3@k B av nat § o) S

Sotd O T 3l 3R SR A srfaat & Ee vl TeonfATw uwT I fawee. | 9 &
srAfafas g, anmer &1 AT & S & safas fae a aw ik fafEae; scafas
&R 1 SferdT, ARCASE & FMem 1 e (FUTer H FATATIF glar) affer o

Who among the following, in your opinion, has written these ideas originally?
(1) Cesare Beccaria (2) Cesare Lombroso

(3) Jeremy Bentham (4) E H. Sutherland

9k A H fowriohd 7 & heglel oot faanl @ #a &9 & foftes o §?

(1)  der deiar 2) =R siegrEr

(3) = dum (4) % TT Hetels
[Question ID = 3394][Question Description = Q40_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13039]
2. 2 [Option ID = 13040]

3. 3 [Option ID = 13041]
4. 4 [Option ID = 13042]

Topic:- 68Crim_D
1) Who among the following defended the concept of natural crime?
(1) Garofalo (2) Lombroso

(3) Ferri  (4) Beccaria

fo=Tfafag & O Sl 9 3rnr fir daeger & JaTer 92



(1) e (2) oiFgrEr

(3 o (4) SR
[Question ID = 3395][Question Description = Q41_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13043]
2. 2 [Option ID = 13044]

3. 3 [Option ID = 13045]
4. 4 [Option ID = 13046]

2) What is the name of the conceptual framework in which the research is carried out?
(1) Research hypothesis (2) Synopsis of research

(3) Research paradigm (4) Research design

IH HaUROTcHS FIET &1 T A7 ¢ S0 oty & foar Srar 87

(1) 2 Yiehedar (2)  frer & |rer
(3)  efreT ®m@mel (4) eirer 3fdwmeg

[Question ID = 3396][Question Description = Q42_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13047]
2. 2 [Option ID = 13048]
3. 3 [Option ID = 13049]
4. 4 [Option ID = 13050]

3) Which one among the following is not a victimless crime?
(1) Homosexuality (2) Prostitution

(3) Culpabale homicide not amounting to murder (4) Alcoholism

fFetafaa & & #r scdisa a3 §7

(1)  GFclfEihar
(2) awEEfa

(3)  3UTES AT 99 S gl A6l ol
(4) R F TddT

[Question ID = 3397][Question Description = Q43_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13051]
2. 2 [Option ID = 13052]
3. 3 [Option ID = 13053]
4. 4 [Option ID = 13054]

4) Which among the following is not the technique adopted in computer crime?
(1) The Trojan horse (2) The Salami slice

(3) Impersonation (4) Extortion

FFISY AR A fAraiohd # A Pt o wfafer ag 3aars el §2

(1) g grer (2 TeE e
(3) g FUREOT (4) oellg AT

[Question ID = 3398][Question Description = Q44_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13055]
2. 2 [Option ID = 13056]



3. 3 [Option ID = 13057]
4. 4 [Option ID = 13058]

5) Which one among the following does not come within the purview of Criminology?
(1) Itology of crime (2) Extent of crime

(3) Nature of crime (4) Use of ballistics

forraifrd & @ T AR & Hadld A8T 37 &7

() 3w gd @ (2)  3TRTer <hr Infar
(3) 3T T Fpid (4) wmaifahr &1 ITeT

[Question ID = 3399][Question Description = Q45_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13059]
2. 2 [Option ID = 13060]
3. 3 [Option ID = 13061]
4. 4 [Option ID = 13062]

6) In defining Criminology who among the following stated that “Criminology is a body of Knowledge regarding crime as a
social phenomenon. It incluses within its scope the process of making laws, of breaking laws ,and of reaction towards
breaking of laws"?

(1) Shaw and McKay (2) Sutherland and Cressey

(3) Akers and Sellers (4) Cornish and Clarke

ﬁwmﬁmm?ﬁmﬁﬂﬁﬂﬁﬁmmm%“mamw
AT OEeT & 9 7 3 & aX & AT &7 oOEr ¢ 584 87§ S | & &
Sooigd @ Uihar 3T @ &1 Ieoad o W gle arer uiakhar enfae £

(1) o 3R d=r (2) gezels 3K =0

(3) uE AR got (4) @ifeer 3 Fore

[Question ID = 3400][Question Description = Q46_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13063]
2. 2 [Option ID = 13064]
3. 3 [Option ID = 13065]
4. 4 [Option ID = 13066]

7) Who among the following first introduced the “Crime prevention strategy through Environmental Design"?
(1) Raffaele Garofalo (2) Cesare Lombroso

(3) Emile Durkhiem (4) C.Ray Jefferey

fTrafaf@a # O fregle Gavyd " gaatoie ey & Arad § 3 HaRer HEa
ed:Fanfad & o

(1)  THrer IRher (2) HeR sEEr

(3)  wiAeh giEs 4 I I%

[Question ID = 3401][Question Description = Q47_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13067]
2. 2 [Option ID = 13068]
3. 3 [Option ID = 13069]
4. 4 [Option ID = 13070]

8) Who among the following exponent studied the family of ‘Jukes' to corelate inheredity and criminality as cause of crime?

(1) Edwin H Sutherland (2) Emile Durkheim



(3) Richard Dugdale (4) Robert Agnew
fimtfhd & @ g afdues o 3R & FROT F ® A gaidiedr R afEEar #1696
e TOT A & T " & R & e S an
(1) vsfaa v Heels (2) viaeh gian

(3) F=s smEa @ Ua¢ Wy

[Question ID = 3402][Question Description = Q48_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13071]
2. 2 [Option ID = 13072]
3. 3 [Option ID = 13073]
4. 4 [Option ID = 13074]

9) In India, the first women jail was established in:
(1) Tumkur in Karnataka  (2) Yarwada in Maharashtra

(3) Chennai in Tamil Nadu (4) Lucknow in Uttar Pradesh

ARd A FA9UH AfGell S6H]g I T HT TS

(1) ellcd & gAPL A (2) #ANISE & Ader A
(3) afFeers & de1s A (4) 3cAt e & oEedF A

[Question ID = 3403][Question Description = Q49_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13075]
2.2

[Option ID = 13076]
3.3

[Option ID = 13077]
4. 4
[Option ID = 13078]
10) Who among the following was associated with the Constitutional theory of Criminology?

(1) Raffaele Garofalo (2) Cesar Lombroso

(3) Cesare Beccaria (4) Ernst Kretschmar

fAAfaf@ad ¥ #ia menres & gdafas fea O ggafsa 9

(1) Toraer IRhelt (2) SR siEgrEr

(3) R SR (4) 3Ty
[Question ID = 3404][Question Description = Q50_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13079]
2. 2 [Option ID = 13080]

3. 3 [Option ID = 13081]
4. 4 [Option ID = 13082]

11) According to Prison Statistics 2019, which among the following has the highest number of Central Prisons in India?
(1) Bihar  (2) Delhi

(3) Karnataka (4) Tamil Nadu

aEEE & Hafday 2019 & HIhS & AHeTaR AN A FAIT FREWT 6 Falftld T&a1 Hpl o7



() fEr (2) feeelr
(3)  heleah 4 dffeers

)

[Question ID = 3405][Question Description = Q51_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13083]
2. 2 [Option ID = 13084]
3. 3 [Option ID = 13085]
4. 4 [Option ID = 13086]

12) Who is the author of the treatise, The Medical Jurisprudence of Insanity?
(1) Charles Goring (2) Cesare Lombroso

(3) Isaac Ray (4) Gabriel Tarde

fe AfSwer AT 316 SUAS AAS A vaa & @ did §?

(1)  =rewr anREr (2 ¥R dEr
(3) IEAF I (4) AfgTer TS

[Question ID = 3406][Question Description = Q52_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13087]
2. 2 [Option ID = 13088]
3. 3 [Option ID = 13089]
4. 4 [Option ID = 13090]

13) Release of an offender by the Court of law after due admonition, is known as :
(1) Parole (2) Furlough

(3) Remission (4) Probation

TS S0 & AT SAed gant et 3rrelr i R & @ e S 2

(1) W (2) el
(3) TR (4) ofdrer

[Question ID = 3407][Question Description = Q53_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13091]
2. 2 [Option ID = 13092]
3. 3 [Option ID = 13093]
4. 4 [Option ID = 13094]

14) Who among the following used the terms “outer containment” and “inner containment” to explain crime causation?
(1) Raffaele Garofalo (2) Walter Reckless
(3) David Matza (4) Cesare Beccaria

frafafaa & & fregl R SR e o9 &7 s @ & o " e e s

Hedl: TG 9el &1 YT fhar or?

(1) e Athelt (2) dwer @
(3) =fas #eam (4) R dFmriEr

[Question ID = 3408][Question Description = Q54_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13095]
2. 2 [Option ID = 13096]
3. 3 [Option ID = 13097]
4. 4 [Option ID = 13098]



15) According to Juvenile Justice (Care and Protection) Act 2015, which one among the following category of children are
not covered as ‘children in need of care and protection’?

(1) Incorrigible children (2) Children in conflict with law

(3) uncontrollable children (4) orphan children

ferelit =arr ( qEt@ 3t "@wevn) siffbs. 2015 & 3R HeEdfag J 3 e Aol &
arereRl T " gEiE 3R TeTr & fov smfaia aewr fr Ao 7 enfae Sgr faear T g2

(1) T o=t A g A¢1 R S Hebell

(2)  fafea &r sagesr F= arel Gl

(3)  Toler arerepl & afa g1 fhar o aar g

(4) 3= 9T

[Question ID = 3409][Question Description = Q55_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13099]
2. 2 [Option ID = 13100]
3. 3 [Option ID = 13101]
4. 4 [Option ID = 13102]

16) Who is the author of the book, Crime Control in Capitalist Society?
(1) William Bonger (2) Charles Goring

(3) Charles Dickens (4) Richard Quinney

"FISH Hlol o1 hidciote HIHFel” FAHG Jedh & o i 57

(1) fafems ar (2) =mesy IMfET
(3 =g B 4) =3 fFaer

[Question ID = 3410][Question Description = Q56_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13103]
2. 2 [Option ID = 13104]
3. 3 [Option ID = 13105]
4. 4 [Option ID = 13106]

17) According to Juvenile Justice (Care and Protection) Act 2015, the juvenile in conflict with law above the age of 16
years, during the police enquiry and adjudicating proceedings will be sent to

(1) Community services (2) Special home
(3) Place of safety (4) Observation home
=it =3 ( Ei@ 3R d@Eior ) sfEafes | 2015 & @R 16 a4 s g & iR

fSiegial gfere & godres 3 mar Afdvigs & sRiad & glua e & seeaa &ar 8. 3+
&gl 3 AR
(1)  EHGIEF dar 7 (2) AR aE A
(3) W e A (4) Ye&ur 3E A
[Question ID = 3411][Question Description = Q57_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13107]
2. 2 [Option ID = 13108]

3. 3 [Option ID = 13109]
4. 4 [Option ID = 13110]

18) If a hangman who hangs the prisoner in pursuant to the order of the court is exempted from the criminal liability by
virtue of:

(1) Section 79 of Indian Penal Code (2) Section 78 of Indian Penal Code

(3) Section 77 of Indian Penal Code (4) Section 76 of Indian Penal Code



afg PIS BT &of AT HEE AR F MG F A0 H FhAT & P HE S § o 39
Aifafad @ & s 3mar w0 3ids afidc § ge 9ied @7

(1)  ANAT ESHigar Fr anr 79
(2) AT ESHTear = & 78
(3)  HRC GS8fgar I arr 77
(4)  AXAT GSHIGAT Fr anrr 76

[Question ID = 3412][Question Description = Q58_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13111]
2. 2 [Option ID = 13112]
3. 3 [Option ID = 13113]
4. 4 [Option ID = 13114]

19) According to Juvenile Justice (Care and Protection) Act 2015, which one among the following is not suggested as a
measure for the rehabilitation and reintegration of the juveniles/children?

(1) Government Hostel (2) Adoption

(3) Sponsorship  (4) Foster care

faeliv 7o ( d@y@ 3 @wetor ) sifufaaA. 2015 & 30aR Rl / areel & geda 3
Y- UehIe0T & Tl fele=iieifaia # 4 f&d 39 #1 g1 =@ ¢ar san o7

(1)  GEHT SEEE

(2)  Gede Fellell

(3) g

(4) 9o 9T TR dEE

[Question ID = 3413][Question Description = Q59_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13115]
2. 2 [Option ID = 13116]
3. 3 [Option ID = 13117]
4. 4 [Option ID = 13118]

20) In D.K.Basu case the supreme court of India has laid down guidelines regarding:
(1) Child rights (2) Women rights

(3) Arrest by police (4) Rape victims

S & & dlc A ARG & Iedad ~AEed A Weifed A @ fhwd e A G e fFuiRa
e &7

(1) a9 JAEaR

(2) A & ARFHER

(3) ooy zarr TRy

(4l Tgam Fr diEar

[Question ID = 3414][Question Description = Q60_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13119]
2. 2 [Option ID = 13120]
3. 3 [Option ID = 13121]
4. 4 [Option ID = 13122]

21) In which of the following Report Law Commission of India has devoted a chapter on Victimology?



(1) In 153rd law commission report (2) In 154th law commission report

(3) In 155th law commission report (4) In 156th law commission report

fr=fefaa 7 9 8 ROE A adg [ smer 3 90y gefta seaga & an J &
e e I g

(1)  Tafer 3maer @ 153 ar gfddes

(2)  fafer 3maer &1 154 a1 9fades

(3)  fafer 3maer &1 155 ar gfddes

(4)  fafer smaEer &1 156 a1 gfddes

[Question ID = 3415][Question Description = Q61_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13123]
2. 2 [Option ID = 13124]
3. 3 [Option ID = 13125]
4. 4 [Option ID = 13126]

22) Among the following, which one is not the Random sample?
(1) Cluster sample (2) Quota sample

(3) Systematic sample (4) Stratified sample

fafafaa 7 4 &= afitos viaed a6 &2

(1) == ufdesr
(2) &reT wideer
(3)  Hegartud gfdes

(4)  TalHd gfdeer

[Question ID = 3416][Question Description = Q62_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13127]
2. 2 [Option ID = 13128]
3. 3 [Option ID = 13129]
4. 4 [Option ID = 13130]

23) Raffaele Garofalo mentioned which of the two following basic sentiments to define crime?
A. Sin

B. Pity

C. Vice

D. Probity

Choose the correct answer from the options given below:

(1) Aand Conly (2) B and C only

(3)Band Donly (4) A and D only

IHrae IR 7 TR & ARG T & fore frafaf@d # 3 faer a1 el Aaasi &
Soord Thar g7

(1) a9



@ &
(2 Y
(4  SHAWERT

A fer are faeedt A & HE ook g ¢

(1) Faa A3k C
(2 Faa B3k C
(3) Haa B3R D

4 Faa AIRD

[Question ID = 3417][Question Description = Q63_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13131]
2. 2 [Option ID = 13132]
3. 3 [Option ID = 13133]
4. 4 [Option ID = 13134]

24) Who among the two are associated with 'Pyschological Determinism' in explaination of crime?
A. Charles Goring

B. Isaac Ray

C. Henry H. Goddard

D. Edwin H. Sutherland

Choose the correct answer from the options given below:

(1) Aand Conly (2)B and C only

(3)Band Donly (4) A and D only

fTfaa & & =l & o cafea sy & oo 7 " madaes Hygwae” § 959 87

A e miar
B. ISt T
é: i ] |

D. naﬁﬂu?r‘ﬂmﬂg

A R e Rwedt F ¥ 9@ 3ol o
(1) Faad A3k C
(2) Faa B3R C
(3) Faa B3k D
(4 Faer AR D

[Question ID = 3418][Question Description = Q64_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13135]
2.2



[Option ID = 13136]
3.3

[Option ID = 13137]
4. 4
[Option ID = 13138]
25) Which among the following philosophers’ writings had influence on Cesare Beccaria's Treatise?
A. Montesquieu
B. Hume
C. Rousseau
D. Darwin
Choose the correct answer from the options given below:

(1) Aand Donly (2) B, C and D only

(3) A,Band Donly (4) A, B and C only

diet i & ereve faafefaa § O e el & o@a O wanfag anr?

A AREF
B. t©#

C &l

D sifad

A BT o fRAwedt & & @ o’ 9o
(1)  &aer AR D
(2) &Faa B.CiR D
(3) &FaT A B3R D

(4) SHaad A B3k C

[Question ID = 3419][Question Description = Q65_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13139]
2. 2 [Option ID = 13140]
3. 3 [Option ID = 13141]
4. 4 [Option ID = 13142]

26)
Which among the following are associated with Hirchi's Social Bonds that promote

socialization and conformity?

A Attachment
B. Commitment
C. Involvement
D. Belief

Choose the correct answer from the options given below:

(1) Only A is correct



(2) Only A and B are correct
{3) Only A. B and C are correct

(4) Onlyv A. B. C and D are correct

fedt @ amios dud fgia S ameieor i saeddr @ gear fGar amr g 4
g H# 8§ Fl9 & g9 Tg=9g ¢

(A)  IEEd

(B)  gicer&dn

(C)  ®felcdar

(Dy  HE=Gdr

A 1T 31T fahedl A ¥ Hel Scal T
(1) hacl AT §

2) Haad A BEdE
3 Faad A B3R CTEE
(4 ABC3IIDHEIE

[Question ID = 3420][Question Description = Q66_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13143]
2.2

[Option ID = 13144]
3.3

[Option ID = 13145]
4. 4
[Option ID = 13146]
27) Among the following, indicate the correct steps in scientific research?
A. Gathering and Analysing the data
B. Formulating the research design
C. Interpreting the results
D. Choosing the research problem and Stating the hypotheses
Choose the correct answer from the options given below:
(1) A,B,Cand Donly (2)B, C, D and A only

(3)D, B, Aand Conly (4) C, D, B and A only
fafafaa & § d=nfas oty & TEr 9o & sfia fifee
A Eoagager AR faversor
B 2T HAfSTehed &l diduea

C. Tellhel ol feld=el

™ P o S — L T —— - —



= B sk B SEIE S o i . R o, S ol R T s S e B e Db, PR il R, b R e il Y e 4

A 6w 717 [dehedl & & " 3caX &l 989 ity .
() &as A B C3RD
(2 &ad B.C. D3R A
(3 %aa D B AR C

4 Faw C. D B3RA

[Question ID = 3421][Question Description = Q67_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13147]
2. 2 [Option ID = 13148]
3. 3 [Option ID = 13149]
4. 4 [Option ID = 13150]

28) Which among the following is associated with 'lex talionis™
A Admonition or warning
B. Eve for an eyve
C. Remonstrance

D. Tooth for a tooth

Choose the correct answer from the options given helow:
(1) A and B only
(2) C and D only
(3) B and D only

{4) D and A only

feFteliad 7 4 a1 giove fafd § #gag &7

A AdrEer

B. UF 3@ & fAv v& i@
¢ gidarg

D. ol @ dar

A faU 9T Taehedl # & T 3o & II+ HITSIT :

(1) ae A3 B
(2) @ad C3R D
(3)  @ad B3RD
(4 “aad D3R A

[Question ID = 3422][Question Description = Q68_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13151]
2.2

[Option ID = 13152]
3.3



[Option ID = 13153]
4. 4
[Option ID = 13154]
29) According to Prison Statistics 2019, which of the following two states reported the highest female occupancy in India?
A. Kerala
B. Uttarakhand
C. Goa
D. Chhattisgarh
Choose the correct answer from the options given below:

(1) Aand B Only (2) A and C Only

(3) Band D Only (4) D and A Only

a¥ 2019F FNFIR FFeEll Hws & FTaR HAed 7 & G a1 =1 7 #Afgen afgar &
& gaifs aars 1S 82

A FE

B ERGLICE]
C Alrar

D.  ScdlEaE

A e 7w Reedt F F T oo I
(1) &aa AR B
2 &ae A3k C
(3) &ae B3k D

(4 Haa D3k A
[Question ID = 3423][Question Description = Q69_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13155]
2. 2 [Option ID = 13156]

3. 3 [Option ID = 13157]
4. 4 [Option ID = 13158]

30) Which two from the following are considered as ‘Penal Couple’ ?
A. The Police

B. The Victim

C. The Prosecutor

D. The Offender

Choose the correct answer from the options given below:

(1) Aand Bonly (2) A and C only

(3)Band Donly (4) D and A only

PP T O TRTEr o) PO TI.:,  'ro




Il I ¢HiE0 A N e Gl=o% O el ol p !l

A g
B.  difsq cafed
C SIEEIECY
D. FOTedT

A R are fwedt # & @8 3o I
(1)  %aer A3R B
(2) aa A3k C
(3) &ael B3R D
(4) Faer D3R A

[Question ID = 3424][Question Description = Q70_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13159]
2. 2 [Option ID = 13160]
3. 3 [Option ID = 13161]
4. 4 [Option ID = 13162]

31) Read the following statements about the Supreme Court Directives of 2006 in the Prakash Singh and Others vs. Union
of India and Others case:

A. Each State must constitute a State Security Commission

B. Police officers on operational duties in the field will have a minimum tenure of three years
C. Investigation and law and order functions must be separated

D. National Security Commission be established at the Union Level

Choose the correct answer from the options given below:

(1) B, Cand Donly (2) A and C only

(3) A, Cand Donly (4) A, Band Conly

grer [&E 3T 3T 99\ oRa §9 36K 3 ag F 3998 e F av 2006 & Tiew &
T # et wuar & gfew

A YRASUST F ST UE Ud GRET Rl S el dAeT
B. Wies # FA IF FAT &1 adH FRFE died a9 & glell d1ipe
Cc.  wawor AN A caen sl st @1 guw G S g

D. & IWHR F X W ASET TI&T 7T H FA911 1 e

A Be v fwedt & & @@ 3o’ oo
(1)  @&ael B,C3R D

(2  @ae A3k C

(3) Faad A C3HRD

o il L -



L&) chdel A, DIAK L

[Question ID = 3425][Question Description = Q71_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13163]
2. 2 [Option ID = 13164]
3. 3 [Option ID = 13165]
4. 4 [Option ID = 13166]

32) Read the following statements about the forms and provisions of Punishment and answer accordingly:

A. Flogging as a mode of punishment was abolished in India in 1955

B. Section 53 of the Indian Penal Code provides forfeiture of property as a form of punishment

C. The provisions relating to solitary confinement are contained in Sections 73 and 74 of the Indian Penal Code

D. Abetment of suicide committed by child or insane is punishable with imprisonment for a term not exceeding seven years
under the Indian Penal Code

Choose the correct answer from the options given below:
(1) A,Band Conly (2) A and C only

(3)AandDonly (4) A, Band D only

g3 & 9¥9 3R 3udy & G A frafataa sl # g9fer A deaar seax Qs
A s faus & §9 7 . diear a¥ 1955 7 3cafed fFar =

B. AR &3 Afgar &7 aRT 53 & §ufcd & THAIGIOT FT 3T ¢

c Tehid IR & FFETEd 399 ARG ¢ dfgdr & are 73 3 74 7 3idfase ¢

D. feoell arereh a1 qreTel e GaNT JTCHEC 1 GOIIUT Il il &I gl A HRAT &3
gigar & i ag av @ 3=fEs 39 g% F FEE @ gusd gem

o fou A fawedt A & | 3cal 9+l
(1) ad A B3R C

(2) Fad AR C

(3) @ad AR D

(4) @ad A B IR D

[Question ID = 3426][Question Description = Q72_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13167]
2. 2 [Option ID = 13168]
3. 3 [Option ID = 13169]
4. 4 [Option ID = 13170]

33) Read the following statements about The Juvenile Justice (Care and Protection of Children) Act, 2015:

A. ‘Special home’ means an institution for housing and providing rehabilitative services to children in conflict with law
B. ‘Aftercare’ is meant for those who have left institutional care and yet to complete eighteen years of age

C. Chapter Il of the Act contains provisions for the ‘Juvenile Justice Board’

D. Chapter IV of the Act deals with the ‘Procedure in Relation to Children in Conflict with Law’

Choose the correct answer from the options given below:

(1) A, Band Donly (2) A, C and D only



(3)Cand Donly (4) A and D only

R = ( areenl &7 ZEerer 3T S aEfETaE ety & anr d Faefaa wua &t
gfgw:

A RS T ¥ R G o o @ e AR qede R e e &
fAffaca v g sfaua ¢

B. 3cad T&T g 3e1 diclhl & fAffAcd § S Gedlicde cE@sel § a6 37T g ¢ 3R das
ve af i 3G A v A §

C sfafaas & e da & ¢ el = @15 " Geaedt 3uaw safdase §
D. e & s =9 - A §ad aer aee § SEaey 7 ultear " O R §

e Gu 71w fasedl & & WEl 3ocR e
() FacT AB3R D (2) Faer A.CHRD
(3) @haa C3HR D (4) aer A3k D

[Question ID = 3427][Question Description = Q73_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13171]
2. 2 [Option ID = 13172]
3. 3 [Option ID = 13173]
4. 4 [Option ID = 13174]

34) Read the following statements about F.l.R. and answer accordingly:
A. Section 154 of the Cr.P.C. deals with information relating to the commission of a cognizable offence

B. If given orally to an officer in charge of a Police Station, information shall be reduced to writing and be read over to the
informant

C. Such information shall be signed by the police person alone and substance thereof shall be entered in a prescribed book
D. A copy of the information as recorded shall be given free of cost to the informant of the FIR

Choose the correct answer from the options given below:

(1) A, Band Donly (2) A, C and D only

(3)Cand Donly (4) A and D only
JoH Tael REIE & a7 Arafei@a e & 9iev 3T aeaar Soat s

A Gs gfshan |igar 1 o 154 FRdT 691 3190 & FIa 6 St § awafed geen &
FEd g

B. Jfe gfew wee # el mnd st & et Aifes 9= &G oar § o g@en
hael fof@d &9 & @l 3R sicaen &1 arel I 38 Yoot FARIT SREN

52 SH g 1 Faar 9 dael gierd TRl @R gEaai &har SirEer Us sl gidfse
fafga a1 & Fr sl

D. o Nfei@d oo $ U Gid FUA Faell RUIE & Sfedell &1 drel sdiFd &l
GRS ARSI

B . RE T L T TR LR =, PR A, R SR TR TRATTE | e e T L.



ol gl N Ideedl a1 apl 20ds t‘iﬂ'l
(1) dgef A. B3R D (2) Fael A.C3IHR D
(3 SFag cikD (4) Fad AFRD

[Question ID = 3428][Question Description = Q74_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13175]
2. 2 [Option ID = 13176]
3. 3 [Option ID = 13177]
4. 4 [Option ID = 13178]

35) Match List | with List Il

List | List Il
Acts/Manual/Code Year

A. The Prisons Act 1. 1860
B. The Probation of Offenders Act 1. 2016
C. The Indian Penal Code 1. 1894
D. Model Prison Manual V. 1958

Choose the correct answer from the options given below:
1) A-I,B-IV,C-1D-1 (2) A-I1I,B-lI,C-lll, D-IV
(3) A-ll,B-IV,C-lll, D-1 (4 A-l1,B-ll,C-1l, D-IV

T T e I & g f

T I e 11
A FNE Al I 1860
B. el afdder sifefaan II. 2016
C. IRd ¢35 |fga dfgar 111. 1894
D. gy ®RER [HaAgEds IV. 1958

s GU ae fasedi # § @Er 3ok AT
(1) A-II.B-IV.C-ID-II (2 A-ILB-I.C.II, DIV
3 AJI.BIV.C.I.D-I 4 AI.BII.C-IL D-IV

[Question ID = 3429][Question Description = Q75_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 13179]
2.2

[Option ID = 13180]
3.3

[Option ID = 13181]
4. 4

[Option ID = 13182]

36) Which of the following is not true about Parole?

(1) Parole is meant for the person who is in the Prison

(2) Parole is granted by the Parole Board

3) Parole is designed to help the prisoner meet his/her emergent social obligations

(4) Parole is an unconditional release of a Prisoner

e F e 7 Tetaa 7 9 Fia 91 T @ a3g 82

() e 37 cafedaa & AT g S aRem A §
(2 S 95 gEn e e e §

(3)  URier T 32 FAT HI 3T dlcahlicld AN clideal @l Jid # TEEdAT Saled aelr
4y e g8 & ey Rrere



[Question ID = 3430][Question Description = Q76_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 13183]
2.2

[Option ID = 13184]
3.3

[Option ID = 13185]
4. 4

[Option ID = 13186]

37) Match List | with List I

List | List Il

Book /Author

A. Probation and Parole: Theory and L S.S. Srivastava

Practice
B. Criminology, Penology and Victimology |Il. Ram Ahuja
lll. Edwin H. Sutherland and
C. Principles of Criminology Donald
R. Cressey
D. Criminology IV. Howard Abadinsky

Choose the correct answer from the options given below:
(1) A-1,B-1l,C-1l, D-1V

(2) A-IV,B-1,C-ll, D-1I

(3) A-ll,B-1V,C-1l D-I

(4) A-ll,B-lll,CIV-, D-l

T TR Eh 11 @ gafa A

T -1 T -II

A dided s R = us dfdew L wy oy Aadd
B. ffAstersr, Aaeeg vs AfFeaiers IT. A 3MgsT

C. TRITew 3w FRiasTeli 11 vsfaer v Fexels
D. A= IV. gars sanfSeaeh

e AT e faswedl A § 6 oo g

0 A1 B I EC-0 DIV
@ AIVBI.CII, D-II
(3 AII.B-IV.C-IIDI
4 AJI.BII.CIV-. D-I

[Question ID = 3431][Question Description = Q77_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13187]
2.2

[Option ID = 13188]
3.3

[Option ID = 13189]
4. 4

[Option ID = 13190]

38) Match List | with List I




List | List Il

Theory Propounder

A. Culture Conflict Theory I. Albert K. Cohen
B. Labelling Theory Il. Thorsten Sellin
C. Delinquent Subculture Theorylll. Cyril Burt

D.

Multiple Factor Theory IV. Howard Becker

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

A-II,B-1,C-Il, D-1V
A-1,B-IV,C-l, D-Il
A-IV,B-ll,C-lll, D-I
A-1,B-lll,C-1v, D-II

T IFr 1 ¥ A A

o

T I & 11
(Fzran) (fcdTee)
A ool Hicwelde GNT L 3cac & FigaT
B. dafeiar w2y I eiredst Afesr
C. sfeiade §9 de= WRT I fafter &
D. Acqe HareT =l IV. gias daT

i T e fasdedl A @ §f Ieaw "fAv

1) A-II,B-I.C-IL D-IV
(2 A-ILB.IV.CI. D.IO
(3 AIV.BII.CII.D-I
4 AIBII,C-IV. D_-II

[Question ID = 3432][Question Description = Q78_Criminology_SHAAN_20NOV21_S1_Shift1]

1.1

[

Option ID = 13191]

2.2

[

Option ID = 13192]

3.3

[

Option ID = 13193]

4. 4

[

Option ID = 13194]

39) Which of the following statements is incorrect about Sin and Crime?

(1)
(2)
(3)
4)

Sin is religious, whereas Crime is legal proposition
Sin concerns itself with violation of rules of religion, whereas Crime involves breach of Law
Sinner is punished by God, whereas Criminal is punished by State

There is direct injury in case of Sin, whereas it is not in case of Crime
g 3R e & AR A AEfaa & v § Afetaa & 9 Fla ar sua wgr g g
(1) o9 enfdAe § STafeh R & Hefll daar ¢
(2) 99 @& GFaed € & [HgAT & oo O § Sdfe 3w 7 GfE & ster saded ¢
(8)  urdr & $ea¥ canT g5 e Sar ¢ Sefh Il uewr canr gfvsa fRar Smer §
(4 g B £ e I ummer OiE SeTaTE oiafdh 3IUIET & ITHEo I UaT a8



[Question ID = 3433][Question Description = Q79_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13195]
2.2

[Option ID = 13196]
3.3

[Option ID = 13197]
4. 4
[Option ID = 13198]

40) In the world of Cyber Crime, an unauthorized programme which gains control over another’s system by representing
itself as an authorized programme is known as:

(1) Phishing (2) Spoofing
(3) Stalking (4) Trojan

HISat F2H ST A HATOFd A SEd sfded #19E F ¥ d w@a a1
3T iad & [@red W 901 @r Sar ¢, 38 #1241 FgT ST g7

(1) Secdelc AT A & ATH § &1G@r a1
(2)  =aar &ar
(3) o BT F Gor S

(4) T

[Question ID = 3434][Question Description = Q80_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13199]
2. 2 [Option ID = 13200]
3. 3 [Option ID = 13201]
4. 4 [Option ID = 13202]

41) Read the following statements about the Documentary Evidence under the Indian Evidence Act and answer
accordingly:

A. Primary Evidence means the document itself produced for the inspection of the Court

B. Secondary Evidence means and includes oral accounts of the contents of a document given by certified government
examiner alone

C. Secondary Evidence means and includes copies made from or compared with the original

D. Secondary Evidence means and includes oral accounts of the contents of a document given by some person who has
himself seen it

Choose the correct answer from the options given below:
(1) A, Band Conly (2) A, C and D only
(3) AandBonly (4) AandConly

ARG Tew AEETA & 3T cEaasr 9eg & an 7 SeafeiiEa U o gfer i
deeTaR Jeck Aol

A wrRE W O S & B & A s geads sEta §

B.  Eiddigd e ¥ dhad YANUIG SRR Glieid 2dRT fev a1 geads T Added &
Hifaes faavor i st sfFafaa &



LB qlddi=en ~ila= < dlel Al ool Hid AR owist Idellad bl A5 SAladl - SlstHd gl AN
onfAeT &

D. gladre wew @ Ol 0 wfed qanr Re av grasr & Aifes sl #feva ¢
Iivafmfat S e g sa g

e QU v fasedt 7 & @O 3o =g
() &ast AB3k C (2) *Fad A C3R D
(3) &ad AR B (4) haa A3l C

[Question ID = 3435][Question Description = Q81_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13203]
2. 2 [Option ID = 13204]
3. 3 [Option ID = 13205]
4. 4 [Option ID = 13206]

42) Match List | with List Il as per the Prison Statistics India-2019

List | List Il

Number of Jails State/UT

A. Highest Number of Jails I. Tamil Nadu

B. Highest Number of Central Jails Il. Rajasthan

C. Highest Number of District Jails lll. Delhi

D. Highest Number of Sub Jails IV. Uttar Pradesh

Choose the correct answer from the options given below:
1) A-1,B-1I,C-1l, D-1V (2) A-IV,B-I,C-1l, D-1I
3) A-1II,B-1V,C-1,D-1 4 A-I,B-H,C-IV, D-1

T T O R A

o o I
(HRIMT I TE&=) (T T T=a8TH)

A FRETR & - TEr Fdifes L dffieiarg

B. $E FREIN T - &1 Fdifts I Irerearet

C. e RPN $1 - SEn wdfts TI1 feoeir

D. 39 FRER F - TE&1 FaTds IV. Scatacer

A e e fawedt & & @ e g

O A-LB-W. G BV @ A-IV.B-LC-HL D11

3 A-ILB-IV.C-ILD-I @ A-ILB-ULC-IV, D-T

[Question ID = 3436][Question Description = Q82_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 13207]
2.2

[Option ID = 13208]
3.3

[Option ID = 13209]
4. 4

[Option ID = 13210]
43) Who was the famous shoemaker of Boston, with whom the origin of Probation in modern times is closely linked?

(1) Alexander Maconochie (2) Ernest Hemmingway

(3) John Augustus (4) Sir Walter Crofton



dived & dg Wit A i o G smafbe @Eg 7 aRden @ scufed aea w9 8 SIS
e
(1)  Uoeisy HaArET (2) 3etee gf@Ead
(3)  SAleT 3 (4) WX drecT Himes
[Question ID = 3437][Question Description = Q83_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13211]
2. 2 [Option ID = 13212]

3. 3 [Option ID = 13213]
4. 4 [Option ID = 13214]

44) Arrange the following Prison Reforms Initiatives in correct chronological sequence:
A. National Expert Committee on Women Prisoners

B. All India Committee on Jail Reforms

C. Jail Administration in India

D. All India Jail Manual Committee

Choose the correct answer from the options given below
(1) A,B,C, D
(2) D,C, B, A
(3) A, C,D,B
(4) C,D,B,A

FREIR TR Graeel [Heafelf@a ggell ®F Gpl Ficisha 7 TsT
A Afgen Sfedr srael ool faws wfafa

B fEe O &1 guR afAfd

C. HARA # Siol W2THeT

D. m‘@ﬂmﬁhﬂaﬂﬂﬁgmaﬁﬁ

A fGU 10 Tdohedl & & 65l 3ol & 939 il

() A BCD
® D, CBA
3 ACDB

(4) C.D.B.A

[Question ID = 3438][Question Description = Q84_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13215]
2.2

[Option ID = 13216]
3.3

[Option ID = 13217]
4. 4

[Option ID = 13218]

45) Who among the following classified victims into 13 categories depending on their propensity or risk for victimization?



(1) Andrew Karman (2) Benjamin Mendelsohn

(3) Marvin Wolfgang (4) Hans Von Henting

fFrfoiag 7 ¥ frga diftdt & 3% @ifta g & vdicad 3ar SifEd & 3R W
13 Fifedr # asffea fmar ?

(1) vz &ad (2) JeaTAT Hserdd
(3)  #ASGT diemhamear (4) ©F did geAeET

[Question ID = 3439][Question Description = Q85_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13219]
2.2

[Option ID = 13220]
3.3

[Option ID = 13221]
4. 4

[Option ID = 13222]
46) The number of crimes per 10,000 population is known as:
(1) Crime Division (2) Crime Indicator

(3) Crime Incidence (4) Crime Rate

Ofd € §olY cAfdadl T ERT W g arel Ol 7 T&ar &1 &gl Adm &
(1) IO & T=a (2) 3T Hehdeh

(3) TUNTET &1 HATHAT (4) 3T &1 X

[Question ID = 3440][Question Description = Q86_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13223]
2.2

[Option ID = 13224]
3.3

[Option ID = 13225]
4. 4

[Option ID = 13226]

47) The ‘Broken Windows theory’ which states that maintaining and monitoring urban environment helps to create
atmosphere of order, thereby preventing more serious crimes from happening was given by:

(1) Matza and Sykes (2) Cloward and Ohlin

(3) Shaw and Mckay (4) Wilson and Kelling

‘Sichet fastsr Al ' S Sooid ¢ o agll gdiator & SHepeator 3R 3Hh IRl & caavn
& forT araraer &1 TR & AT S & ggraar Ferdt § Sad wesasy At sfew e
HRTE & [Aanor giar ¢. 59 fbaa & ufades aid o 2

(1)  Arcorm 3R asaa (2) oeas 3T Eea
(3) anil &% (4) Tacms 3R e

[Question ID = 3441][Question Description = Q87_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13227]
2. 2 [Option ID = 13228]



3. 3 [Option ID = 13229]
4. 4 [Option ID = 13230]

48) ‘Prisons, Reformatories, Borstal Institutions and other institutions of like nature’ are listed under which of the following
lists in Seventh Schedule of the Indian Constitution?

(1) Union List  (2) State List

(3) Concurrent List (4) Residuary List

' FRAT, e, decer Teae H s awp 1 g Seae R Sfaee & aadh sergE
& Prafafad & & R g F &

(1) wE @ v T
(3) wHadl W= (4) 3fafise g

[Question ID = 3442][Question Description = Q88_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13231]
2. 2 [Option ID = 13232]
3. 3 [Option ID = 13233]
4. 4 [Option ID = 13234]

49) Which of the following were part of the Government’s response to 26/11 Terror attacks in India?
A. Establishing National Investigation Agency (NIA)

B. Creation of New NSG Hubs

C. Creation of National Intelligence Grid (NATGRID)

D. Creation of Elite Anti-Terror Squads (ATS)

Choose the correct answer from the options given below:

(1) B, Cand Donly (2) A and B only

(3)A,Cand Donly (4) A, Band C only

frfafad & @ ol & 26 FarR, 2011 (26/11) FF §U A A & ITd TIHRT FRATS
&7 BT o 7

A TSR 3dN0T Uoidl (UeT 318 U) ol TIder
B. U U UH Sl oal I Forel
c.  orEd oo [ ((elE) & gad

D. Zdic U W &EE (UATH) & Holed

o T§U a0 fashedl A A WET Sccl Il -
(1) Faa B.c3ik D (2) aer AR B
(3 Had A.C3HIT D (4) @ad A B3R C

[Question ID = 3443][Question Description = Q89_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13235]
2. 2 [Option ID = 13236]
3. 3 [Option ID = 13237]
4. 4 [Option ID = 13238]

50) Which of the following is true about the Classical School of Criminology?
1) It explained crime in terms of biological determination

(2) It believed that man commits crime due to influence of some external spirit



3) It placed reliance on free-will

(4) It laid greater emphasis on personality of the offender rather than his criminal act

HRTETET & IR GG & a8 7 Sefoiad 3 O i @7 w2 J57 87

(1) SO 3w & carear Sfas Teagde & decst & fr ardr of
(2)  SUH W Aegdr O F Hegsd TR ST AT & TG & FROT AW FRT FA §
(3) SHH Todd SOOT W SR har Srar on

(4) =EH YRS S & T IR & AfdFdad 9 3ifUs a9 Gar Ser o

[Question ID = 3444][Question Description = Q90_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 13239]
2.2

[Option ID = 13240]
3.3

[Option ID = 13241]
4. 4

[Option ID = 13242]

51) The Protection of Women from Domestic Violence Act, 2005 does not include:
(1) Prohibition of Marital Rape

(2) Protection from emotional, physical or economical abuse

3) Appointment of Protection officers

(4) Prohibition of Trafficking
aiel fedr & Afger awior s | 2005 # F=fafEa § & @ afde a6 82

(1) darfgs Fenchi gicder
(2) HIdaTcHS, amifieh 3rerar i Scdise I aeafor
(3)  weToT AfEREr i

(4)  geOR @ ufader
[Question ID = 3445][Question Description = Q91_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13243]
2.2

[Option ID = 13244]
3.3

[Option ID = 13245]
4. 4

[Option ID = 13246]

52) What is Zero First Information Report (FIR)?

(1) Registration of FIR irrespective of territorial jurisdiction
(2) Registration of FIR in respective jurisdiction

3) Registration of FIR in selected Police Stations

(4) Registration of FIR in a Rural Police Station

T TUA I RO (UF WS HW) = 2

(1) UF HS HR Tallehd &Ll 8701 G arAisr o i gr



(2) &SR & 3THR UF 35 3R Gelihd ael
(3) =l 9oy el H U6 S HR Usiihd el
(9 wmfior gfck €2 A UF 315 AR Gelidd dell

[Question ID = 3446][Question Description = Q92_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13247]
2.2

[Option ID = 13248]
3.3

[Option ID = 13249]
4. 4

[Option ID = 13250]

53) The concept of Positivism in criminological theories was first introduced by:
(1) Cesare Beccaria

(2) Cesare Lombroso

3) Jeremy Bentham

(4) Frederic M. Thrasher

e AEA el # UcusTdie & HaUNOT & HEH auuH fhad Gar anr?

(1)  T9T SR

(2)  GE shEEr
(3) S deuR

(4) sl TH 99X

[Question ID = 3447][Question Description = Q93_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13251]
2.2

[Option ID = 13252]
3.3

[Option ID = 13253]
4. 4

[Option ID = 13254]

54) Which among the following criminological theory states that visible sign of crime, anti social behaviour, and civil
disorder create an environment that encourages further crime and disorder including serious crime?

1) Control Theory

(2) Broken Windows Theory
3) Routine Activities Theory
(4) Conflict Theory

Trieiad @ & & fora T AT [aid & iR 3. 3EATSE SagRAR Mide
ITaer & TOA Feg MR IR a@fga 3R 3fEe 3WEr 7 g & gerdr e 87
(1) forg=or fea

(2) & fasdr e

(3) Afcas e e
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[Question ID = 3448][Question Description = Q94_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13255]
2.2

[Option ID = 13256]
3.3

[Option ID = 13257]
4. 4

[Option ID = 13258]

55) Scope of Criminology does not include:

1) Process of making laws

(2) Breaking Laws

3) Societal reactions to laws being broken

(4) Comparative Politics
T oned T uRf F Seafatag 7 § o3 onfae =97 87

(1) et ST
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(4)  olIcHE Tttt

[Question ID = 3449][Question Description = Q95_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13259]
2.2

[Option ID = 13260]
3.3

[Option ID = 13261]
4. 4

[Option ID = 13262]
56) The overall strategy which constitutes the blue print for the collection, measurement and analysis of data is known as:
(1) Statement of Problem (2) Research Design

(3) Hypothesis (4) Research Ethics

ISt & TAGUT, AU 3R fawewer gq eeiftic aoe & FHa R & e &9 7 S
1

(1) HAEAT & & (2) effeT AfEEeT
(3)  Uladeder (4) o Sfdswar

[Question ID = 3450][Question Description = Q96_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13263]

2. 2 [Option ID = 13264]

3. 3 [Option ID = 13265]

4. 4 [Option ID = 13266]

57) Which among the following statute defines six types of punishment?

(1) The Code of Criminal Procedure

(2) The Indian Penal Code
3) The Civil Procedure Code



(4) The Protection of Human Rights Act

fArafaa 7 4 o9 4 8 &5 & oF R & IR & §?
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[Question ID = 3451][Question Description = Q97_Criminology_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13267]
2.2

[Option ID = 13268]
3.3

[Option ID = 13269]
4. 4

[Option ID = 13270]

58) The release of a imprisonment prisnor after completion of 14 years actual imprisonment is

known as
(1) Probation (2)  Pre-mature release
(3) Aftercare (4) Community Service

1498 fT areafas e quT #el & 9eard Al Pl HFd Sl FHgelldl §

(L)  dftEme (2) 3EHAEE HiTd
(3) UARE (4) TAETSIF dar

[Question ID = 3452][Question Description = Q98_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 13271]
2.2

[Option ID = 13272]
3.3

[Option ID = 13273]
4. 4

[Option ID = 13274]
59) A child stays away from school without permission is known as:
(1) Street child (2) Truant

(3) Vagrant (4) Homeless

AT & 3 Tacmer & g¥ o ardl aredd $ foidd §T H S ST §

(1) e e (2)  gemraeefier dreles

(3)  HENT (4) =T

[Question ID = 3453][Question Description = Q99_Criminology_SHAAN_20NOV21_S1_Shift1]
1. 1 [Option ID = 13275]
2. 2 [Option ID = 13276]
3. 3 [Option ID = 13277]
4. 4 [Option ID = 13278]

60) Which among the following statute defines victim as ‘a person who has suffered any loss or injury caused by reason of
the act or omission for which the accused person has been charged and the expression “victim” includes his or her guardian
or legal heir’?

(1)  The Code of Criminal Procedure



(2) The Indian Penal Code
(3) The Code of Civil Procedure

(4) The Unlawful Activities (Prevention) Act

Fafafaa 7 9 Fig @ afafe ag ofenfeg o= ¢ & 9B & 3 tor =Ea ¢ B 3w
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[Question ID = 3454][Question Description = Q100_Criminology_ SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 13279]
2.2

[Option ID = 13280]
3.3

[Option ID = 13281]
4. 4

[Option ID = 13282]

Topic:- GP_Set2_C
1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :

(1) (A) and (D) only  (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only

A it AEFAF FoAlG Had 8, FR W
(A) TP

(B) @EEALI-3TEd

(C) =mE-==da

(D) ==t Tor
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(1) == (A) 3T (D)

(2)  =AH (A), (C) 31 (D)
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[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13691]
2.2

[Option ID = 13692]
3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]
2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B) Yoga

(C) Cricket

(D) Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :

(1) (A) only (2) (A), (B), (C) and (D) only

(3) (A) and (D) only (4) (A), (B), (D) and (E) only

A U9 ZET-TE - F ue e -ga-aee

A) dtgwa
(B) =i
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(1) == (A) (2)  Fa= (A). (B). (C) #R (D)
(3)  FEE (A) ¥ (D) (4) =ae (A), (B) 31 (E)

[Question ID = 3558][Question Description = Q47_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13695]
2 [Option ID = 13696]
3 [Option ID = 13697]
4 [Option ID = 13698]

AW N =

3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is



also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.
India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?

(1) Digital India  (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy
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[Question ID = 3559][Question Description = Q48_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13699]
2 [Option ID = 13700]
3 [Option ID = 13701]
4 [Option ID = 13702]

A W N -

4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a



source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology
(B) Folklore
(C) Tourism
(D) Yoga

(E) Education



Choose the correct answer from the options given below :
(1) (A), (C), (D) and (E) only (2) (A), (B), (C) and (E) only

(3) (A), (B) and (E) only (4) (B), (C), (D) and (E) only
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[Question ID = 3560][Question Description = Q49_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13703]
2 [Option ID = 13704]
3 [Option ID = 13705]
4 [Option ID = 13706]
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5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.

itRa T 1 ufgu i e fTu T vl w1 e A
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The passage highlights

(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries
(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

TR G FA

(1)  Wd % HeEwEE % F9 ° 5195

(4)  HTE = T T E W wey
[Question ID = 3561][Question Description = Q50_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13707]
. 2 [Option ID = 13708]

. 3 [Option ID = 13709]
4 [Option ID = 13710]

A WN -

Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) diztribution of the number of

Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between

the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.4
August 22% 4:5
September 2h% 3:2
October 8% 1.5
November 12% T:8
December 16% 7:9




FreAitea Ao 1 w9 @ 20 Tomd v fagkan % g S=0E 2019 ° feomsw 2019 7% == o sl @
% fammo it ufaeman 9o HP #iW DELL #maf-1 & @9W wi=ta 1 e fof @t = = %1 o
F9ET T 7| S arad | T gt G @ i 3 @e 45,000 (Farfow wAR) 21 e § fau o
HATHS o AR T UTH T I D

A1 TR R HTRE - T T

DELL i
FeATS 17% 8:7
BT 22% 4:5
T 25% 3:2
T 8% T:5
AT 12% 7:8
e 16% 7:9

What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119 : 130

DELL %0t = g seis 331 faasn § s ffs woorst i g =0 sigar o= 27

(1) 119: 145 (2) 116:135
(3) 119:136 (4 119:130

[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) Consider the following table that shows the percentaze (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% ik
October 8% W
November 12% i
December 16% e

faeAifene anfern 1 w9 © 2 fogd ush faghar & gy 9enms 2019 © faaesw 2019 @ == 7o FHsft g
% faaeor 1 ufawaar g1 HP #iR DELL =3t = a9 sty 9 fafim fofi et =% =+ smoa
FoT T 2| s et | T adt S @ i 5w @e 45,000 (Farfom wAR) 20 e @ f2o o
FTHE 5 HTHR T UTA B IS

oo 5 T, [ o3 -
af‘ HITOTERT &R0 O —=Td53R20 &R TS 307



DELL =i
TeTTE 17% 8:7
el e 22% 4:5
T 25% 32
sz 8% 7:5
JaE 12% T8
Lt t==t 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

ST FaEs # HP #091 % 356% ol wor gz wn s e o1 36 wde # HP we & e S s

forr 2 = &= 7

(1) 882 (2) 1635
(3) 1638 (4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of

Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% d
October 8% W
November 12% il
December 16% e

faeAifene afern 1 w9 © 2 fogd sk faghar = gy 9enms 2019 ° f2asw 2019 9% == 7o Fsft g
% fagmo it wfgemar 9o HP W DELL #maf-=1 & @9+ #i=ta 1 g e @t = i #1 aqem
Fon T 7| g aradt | T adt S @ i 3w @e 45,000 (Farfom wAw) 20 e @ fro o
TS AR T UTH I D

A1 TR R AT - T e

DELL =i

~




TeTTE 17% 8:7
T 22% 4:5
foaman 25% 3:9
AT 8% T:5
EE= 12% 7:8
femmr 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

R SFFzeT % oo DELL %01 o fasear 9 oo 4t @ o3 5, 433 1 e w7 6 a1 39 2

T fegrar =i fore o e e

(1) £ 6.49.900 (2) ¥6.45.900
(3) 16.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13719]
2. 2 [Option ID = 13720]
3. 3 [Option ID = 13721]
4. 4 [Option ID = 13722]

4)  Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.1
Auguat 22% 4:5
September 25% g
October 8% W
November 12% i
December 16% e

FreAitea Ao #1 w9 @ 20 Tomd o fagkan % g =€ 2019 ° feomsw 2019 7% == o B g
% foao &1 wfawmar 3o HP @i DELL #0af+=1 % @99 s1atg 7 fefia i @t % o= %1 oqom
ZorrT T 3| Tt et | fagfm et sl @R i we we 45,000 (Tafem wEw) ) arfe g f2e
HATHS T AR T UT T I D

F1 TR R HTE - T e

DELL i
TS 17% 8:7
T 22% 4:5
Taae 25% 3:2
HFEEL 2% 7:5




=1

EE=r 12%
fommm 16%

=]

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

SE F e § HP FUHT % 5w T 5 T $ 5 TEen F 9EH § HP e & gEn e

e . + fas r A
=1 SR i EEE e uiaeE B 7

(D 110% (2)y 140%
(3) 150% (4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

5) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1z 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% it
October 8% ih
November 12% il
December 16% e

faeAifene afern 1 w9 © 2 fogd sk faghar = gy 9enms 2019 ° f2asw 2019 9% == 7o Fsft g
% fagmo it wfgemar 9o HP W DELL #maf-=1 & @9+ #i=ta 1 g e @t = i #1 aqem
Fortan T 2| Tt araddt  faefie meft sl e i e d@een 45,000 (Safem ) 2| e | fag o
TS AR T UTH I D

A1 TR R AT - T e

DELL =i
I 17% 8:7
T 22% 4:5
faae 25% 3:2
AFZAR 8% 7:5
EE=H 12% 7:8
femm 16% 7:9




What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

37 U foamE o1 98 3 DELL %00 % g s T8 e s S0t < me a4 e e

(1) 10000 (2) 15000

(3) 10500 (4 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13727]
2.2

[Option ID = 13728]
3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]

Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

T = g T T wTEEATenE e 39 T BEYE weE A 2

() (2) wEEY TR
(3) fomefi-fa= == (4) =T fawE T

[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only  (2) (A), (C) and (D) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only

fretefiga fafreaien 4 @ #5 a@1 s7=En w9 o 1 agw 27

(A) T
(B) Ta@s-FE-qartagim
(C) e ferfasmn

(D) W=-TqEa
(E) Tod5

= fou o famei @ ° W 3= 1 =me it

(1) === (A). (B) 3l (C)

(2) == (A), (C) 311 (D)



(3)  =Faa (B), (C) 31 (D)
(4)  Fa (C), (D) 377 (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I) Compares one student with another student

(B) Summative Evaluation (ll) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(llD), (C)-(1), (D)-(I1)  (2) (A)-(lI), (B)-(IV), (C)-(II), (D)-(I)

(3) (A)-(I1), (B)-(1), (C)-(lin), (D)-(IV)  (4) (A)-(), (B)-(I1), (C)-(IV), (D)-(ll1)

-1 % =Y g1 7 e i) 9om 9= goa i e g 1 2, FE 5 g 39 A
e 1 2| g1 wd g 1L e

EEl! FAl-11
AT -gha =i —mam
(A) T Fe (D) v foremeff 1z fomneff & gomn v 21
(B) TFHATEF FeATHA (I) v faendft H g 9@ fFufd = @
A 2|
(C) Teu efda gearsa (IIT) woyme: =aferm i sifagoon wa wgz@Ew
=
(D) == TEH g (IV) wums: fuoa wfg % gofieor 2g wgw
et
=il &|

Fr fom o fameat ® | wE 3T 99 A

(1) (A)-(IV). (B)-(III), (C)-(I). (D)~(II)
(2) (A)-(TID), (B)-(IV). (C)-(II), (D)-(T)
(3) (A)-(IL), (B)-(I). (C)-(III). (D)-(IV)
(4) (A)-(D). (B)-(ID). (C)-(IV). (D)-(III)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

I 31 Fya faw o E
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[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.

Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

= = #9 2w e F ;v AfHEeE (Assertion A) % &4 H foifigd & of ?\FTFTHT:EW (Reason R)
T :

e (A) : e, Trerk we wAfaEEdT  OASA WHISTOH® UF TEATOAS A S HEmEiem
AT B, HAd: A= FAIA vA uET F = R

= R): "SR UA A ST # AT SAEE-EE e T W e 2 A

IR FYAT A §, Hie 20 T fawedl ¥ ¥ @ed 39ge 3 o 999 i

(1) (&) R R)FA 7ETF S0 (R). (A) F 76 =mem 7

(2) (A3 (R) 2 TE E, S (R). (A) Fi wF =men T 2
(3)  (A)wA &, =fFA (R) 781 771 2

4)  (A)wFE E R, w (R) @A R

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]
3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freAfefiga el § @ fhes FesHaE =T i SO % A R ST B

(1)  =z-3va-gara (2) wraTiE Fge
(3) TS AR (4) TETTEEE HTEA

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]

7) ldentify the main features of ‘qualitative research’ from the following :
(A) It is concerned with understanding the phenomena from the participant’s perspective



(B) It assumes that there are social facts with a single objective reality
(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process
Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

fret &1 el famreanatt | @ wunen s i gEEE )

(A) =z ufagrll & uiuss § "2 % Eey ¥ geeiead 2

(B) 3G T HEAT WIG1 & WIS 92 el UF a8 39d ¥ 9 T B
(C) e =a|e = gashriers ged e § e 5w g

(D) e UEUE ° w=A F AU i S R S E A 3 o 2

(E)  =of womelt va wiyu-ufFa 2F1 § atenad 2 |

= f2u v famed § | wE 39 A 5 FA

(1) == (A), (C) #R (E)
(2)  Fad (A). (B) 3T ()
(3) = (B). (C) 3 (D)

(4)  F&E (C). (D) 317 (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il :
List | List Il
Methods of research Features emphasized
(A) Experimental (l) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (Il) Status of facts and conditions are ascertained
(C) Descriptive (lll) A variable is manipulated to see its effect on other variable
(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :
(1) (A)-(), (B)-(1D), (C)-(l), (D)-(IV)  (2) (A)-(I), (B)-(D), (C)-(1V), (D)-(IlN)
(3) (A)-(I, (B)-(1V), (C)-(I1), (D)-(1)  (4) (A)-(IV), (B)-(llI), (C)-(1), (D)-(I)
-1 % =1y -1 F1 Toerm Fif=e

g1 T=i-1T
1Y ugieE e g
(A) THETTIHE () =Taf® AEE W 96 od 7Y MamE
et @il %1 e w2 E
(B) M@ (II) wifegfaai va @z 1 fFafa gEEs
E i
(C) =vHHS (ITI) ZH =X 92 U9E A F o8 o =9 H 2
o = 2
(D) UfTETE (IV) fawe #1 @9 ©d 78 AmE A9 59

FF AT 5 T 2
4= fou T e | wE I R 99 i

(1) (A)-(D). (B)-(IT). (C)-(III). (D)-(IV)
(2) {(A)-(ID). (B)-(D). (C)-(IV). (D)-(III)
(3) (A)-(IID), (B)-(IV). (C)-(ID). (D)-(I)
4 (A)-(IV). (B)-(IIL). (C)-(I). (D)-(IL)



[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Option ID = 13759]
2 [Option ID = 13760]
3 [Option ID = 13761]
4 [Option ID = 13762]

A W N -

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

Fo7 (D) FEGE B UEA-Tavelnn UE qFA HwE B % A S EEE - S ST
eyl AR 2
oA (II) : AU ST Ueds = § 9 d1L A, g w2

3ULRE YA o ST °, 99 fBu v et § 8 w8 3 1 9w i

(1) = () =i ID 34 709 &

(2) = (I) 3 (1) 3T 378 2

(3) w9 (1) 73 2, @ =9 (I11) 3190 2

(4) = (1) A5 2, @i w9 (1) #eg 2

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13763]
2 [Option ID = 13764]
3 [Option ID = 13765]
4 [Option ID = 13766]

A w N =

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

I 3 F9F fRu U ;o wfiweE (Ascertion A) % 9 § foifigd & @ EL =I5 FA0 (Reason R) &

= " :

ATFA (A) : 5@ Tl afweTar (UHo) iR w4 I 2 Al AqEeEEal f g
(w=r:) == = e R

F (R) : i afeer (vm0) vF mEiTE ufiweT T B AR vE (UE:) '@ ' OF FhEm

TR { #7 qieT Eﬁ?&fh £ affa § o 5 2
SR FYA o HEE 9, A o T faed § ° A9E 39g 3T 1 99 Fia

(1) (A) 3R (R) 2T et & 317 (R). (A) F1 7t = &
(@) (A) 3R (R) ZA HE E, @ (R), (A) Fif T8 = 767 2

(3 (A TR R AT (R) @8t 95 2



@) (A=A 2, S (R) wE R

[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13767]
2 [Option ID = 13768]
3 [Option ID = 13769]
4 [Option ID = 13770]

A WN -

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

famafefiga & 9 =+t suE a1 F== IeEw 2 e smE-sEus (), 2 (2), 9 (aegm)
it fammg (ai=r) =1 v e &7

(1) == e 5iEeE (2) TEEE TEE
(3)  STHYHT ThA (4) T Em

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13771]
2 [Option ID = 13772]
3 [Option ID = 13773]
4 [Option ID = 13774]

A W N -

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

49 71 #UF U U 2 uF siaEed (Assertion A) % =9 H HfEA 2 A HT 34 % ®FW (Reason R) #
A

HAFA (A) AOEY F Ty § SEURUTeE T Tied W Seed wdl & 9 wfees-uin
(FS-=m) Fed B

FI0 (R): HETHF 71 FEAUF AE F G0 S ® | iees - A1 2

THEIE FYA % A °, 49 50 T fawenl O 4 ged 39g 39 B 999 i

(1) (A) 317 (R) 51 T#1 3 311 (R). (A) i T8 =awe &

(2 (A) ¥R (R TH = E, dfE (R). () F 7 e w2

(3) (A R, T (R) T 2

4) (A TA T 2, A (R) W2

[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :
Statement | : Appropriate word choice is an essential of effective oral communication.
Statement Il : Facial expression and postures fall under visual communication.



In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

i 31 #oA T w #

w9 (D) : THTH AT WAV B WAF WE] H =5 AEvEF B
Fyq (1D : Hifigs 99 v 9f grE-amE % a4 2

I FUF F ATA |, A @ e HEel § ° 98 39 #1991 hie

(1) == (I) 3k (I0) 21 Tea &
(2) = (D) 3 (II) g1 #18eg &
(3) A (1) §ed &, v =ee (1) A5 &

(4) =9 (1) A5 2, =i =99 (I1I) Oe9 &

[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4. 4 [Option ID = 13782]

14) Identify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

weifefad gt & o goee # St # 1w -
&) T

(B)  uitd wgw

(C)  ®f= ud foam =1 Fzag o

(D) == vd = = e —ag w=

(E)  dTfeh &9

4= f2u u faweTt © ° wEl 39 W =98 Fitan

(1) A (A) 311 (B)
(2) %A« (B) = (O)
(3) =& (C) it (D)
(4) == (D) @R (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13783]
2.2

[Option ID = 13784]



3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (l) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (Il) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(I1), (C)-(IV), (D)-(111)  (2) (A)-(I1), (B)-(1), (C)-(I1), (D)-(IV)

(3) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)  (4) (A)-(IV), (B)-(ll1), (C)-(I1), (D)-(1)

-1 % =y F=-11 =1 foer Fifo
B! T
FEO o TR e Fergrand
(A)  STETITEHT FE (I) o7 % @354l H HE sh ATEYEHdl
T F A T o w2
(B) Suiwmdt we (II) =wFE-w9=77 =q 9" =4 8 uF S9Ee
HqIE9H HAE B
(C) &fes | (ITT) =9 ot w3 menen 1 afagfe % @
aq.—q _FQ_]T‘-[ -fﬂﬂ %I
(D) T9-arsT HEEe (IV) Tt i @ +1 2% @d-wEFE e
T

I 720 70 e B W 981 399 @ 999 i

1 (A-D. (B-AD. (C)«(IV), (D)-(III)
@) (A)-D. (B)-(D). (C)-(IID), (D)-(IV)
(3) (A)-(III). (B)-(IV). (C)-(D). (D)-(II)
@  (A)-AV). (B)-ID). (C)-D). (D)-@)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

7fg Fame, famanea =1 25% 2 af oy 1 i Fm 27

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

% fagar 26 et 9== 5. 20/FFa & 3 W wiiz w1 ond g R = 30 e = faen g e e
359 5. 36 /FRe % 3 W wlEr w1 ok 3w v fafim gu amEe . 30/ % g w s 2) 5 |
%IEI[FI;«HH W?EIT'I:[?



(1) 270 t2)  1U%e

(3) 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33 (4) 166.66

wF Fu-fasea 7. X/ % | W 39 iR 9 5. 2X /w0 F W W sEal 8| qeg 366 98 2 wiet

TeHF 6 T2t Ug 3¢ A e 2 21 sus = it wfawhar #=w 2 e

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]
4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P 3R Q i 3itea @1ees A= 5050 9 &, Q ¥ R i sit@a @ifesw s 6250 w99 @91 P o7 R i

S7rEd HIfEF 9™ 5200 %94 2| P oy 91fies 31 fedt =l e

(1) 3.000/- = (2) 3,500/- Tg

(3)  4.000/- %7 (4) 4,500/- 572

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of

first term?
(1) 15 (2) 20
(3) 25 (4) 30

4 HEEIHAT T FET 20 B TUT TEeA WA W9 3 EAIEAT % A0 K 1/3 B Tl 9E AW =B Y

(1) 15 2) 20
(3 25 (4) 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

21 : b ; ; ; :
) According to Naiwvayikas we ascertain the relation of umiversal concomitance between x

and v :

(A) We can determine the relation only if we can determine the relation of essential

R, (g T R o LI L . LTS



(C)

(D)

LUACLILLLY DELWETLL A allll v

By perceiving that in all cases the presence of x 1s accompanied by the presence of y

We can determine the relation only if we can determine the relation of cause and

effect between x and v

By not percelving any Instance where the presence of x 1s not accompanied by the

presence of v or vice-versa

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (C) only
(D) and (C) only
(B) and (D) only
(A). (B) and (C) only

JEAEF F AR B x 0 y § AEHiEE ST F A gEeed #d 2

(&)  x 3R y = S SUNEE G YA UHRFAl 1 G- GHETEd B 9 E 56 HeEed 6 ad #

A |

(B) =i uftfeataat 9 x i mfeaia % @ y F1 sufeaia = @99 w06 =1 g6 F1)

(C) 78 "=y H a4 gifvaa = B 7 79 59 x 97 y F S FE-HE gy gtvad w7 A |

(D)  x Fi sufeafa & wa y Fi sEaetE @y £ sofcafa F @y « Foagefata = 6 f e =

9T T FH|
4 T5u e fawedi 6 1 HA I 59 Hie

(1) == (A) #1T (O)

(2)  #a= (D) 3R (C)

(3) == (B) #T (D)

(4)  =FaF (A). (B) T (C)

[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]
3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

22) Match List I with List II ;

(A)
(B)
(C)

(D)

List I
Vyapti
Linga
Sadhya

Paksa

(I
(IT)
(I1T)

(IV)

List IT

The property being inferred
Locus of hetu and Sadhya
Sign or reason

Universal concomitance

Choose the correct answer from the options given below :

(1)
2)
(3)
4)

(A)-@). (B)-(III). (C)-II). (D)-IV)
(A)-0). (B)-III). (C)-(I). (D)-(IV)
(A)-(IV), (B)-(TII), (C)-(T), (D)-(I)
(A)-(I1D). (B)-(I). (C)-(IV), (D)-(II)

F=Ht-1 % =9 g=H-11 =1 frerm it



(A)
(B)
(C)

(D)

kG

T-1II
(I)  Tored =1 HJHE
(II) =4 &1 =@ 1 =
(II) =ee Y= 0

(IV) =Estias wemtaa

I T2 o famedl © ® WA 39 =8 i

(1)
(2)
(3)
(4)

(A)-(I)., (B)-(IID). (C)-(IT), (D)-(IV)

(A)-AD). (B)-(IID. (C)-(I). (D)-AV)

(A)-(TV), (B)-(II). (C)-(T). (D)-(1T)

(A)-IID), (B)-(@). (C)-AV), (D)-(ID)

[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]
3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) Given below are two statements :

Statement I :

Statement II :

According to Clazsical Indian Logic the fallacies (hetvabhasza) are not

errors of inference, but rather hindrances to inference.

A fallacy 1s really a “seeming reason or mark” (hetvabhasa), which, if

recognized, would prevent the inferential cognition from arizsing.

In the light of the above statements. Choose the correct answer from the options given

below :

(1)
(2)
(3)

(4)

e 31 = fau w2

Both Statement I and Statement II are true.

Both Statement I and Statement II are false.

Statement I 1s true but Statement II 1= false.

Statement I 1s false but Statement II is true.

=4 (1) :

Fe (II) :

EETTE T STHTE FAO AYG] Thd A ST AT B A a1 ST

= U F HEET T

IRIF FUF F AT H, A= @00 FEwed § ¥ HEl 39 0 99 i

(1)
(2)
(3)

4)

T (1) 3 (1) H1 Tea &

T (1) 37 (1) 2F1 *75 ¢

o (1) Ued 2, wifeh = (I0) HEeT 2

o (1) 378e =, @ w99 (1) #eg 2



[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13819]
2 [Option ID = 13820]
3 [Option ID = 13821]
4 [Option ID = 13822]

A w N =

24) ‘‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ‘““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ‘““‘Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) “‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

“Hord: T THAEE] TS UH TH © w1 Gaite wadeAal S B0 Fal wd 81" sreifafEd w8 F w5

1 FH I F T2y ° wE 27

(1) =5 off goa: THaEE TEE U TE 6 ¢ A dathw S @ wied w2 i T s
F1 77 Ufaaids a1 & 3117 91+ ¥ § 7997 2

(2) % geG: TEAEE GES UE GETS AE 2 S J9tew el 1 oad F 2| 7 e wes
=1 71 ufaafds amm 2 i e =9 9 smuges 2

(3) 3 Sold: OUAIETE U UH HOTS & S SafEE S wiad #d 5) fam moFes = 9w afewe
i & #R arihen ®9 @ 5 2

(4)  F3 To: OUAEE WO UH TATS FA1 & S 990w Tad H T Fd 2| 5T T e T
et T 2 21 difEE =9 H THge B

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13823]
2 [Option ID = 13824]
3 [Option ID = 13825]
4 [Option ID = 13826]

AW N =

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

=1 fastat = 2 3t

(1) v, 38 1 fog wr & 91 T " 2

(2)  SFR, SFl e B Gl & Sl aFl S5 T8 8wl

(3)  oFR 3% 32y SiR fadw vy fiam &, wd o ofiv amn off s )

(4) =R ST S2vE AR f9UE weE F SR 3 et gE d A 9 3w e | st 3

[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13827]
2 [Option ID = 13828]
3 [Option ID = 13829]
4 [Option ID = 13830]

AN wnN -

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

WSS WEAT 67.625 =1 fg@mdnt @ugeT 1 21

(1) 1000010 . 110 (2) 1000011.110
(3) 1000010 . 101 (4) 1000011.101

[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1.1



[Option ID = 13831]
2.2

[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B), (D), (A), (C) (2) (C), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

UFIT ZH F A ° TEd 7 Oed o § #ed i, T & o & 50 T #E 0 8 we w0 f ge=e
|

(A) 9

(B) A== 3153
(C) g, W=
(D) wETHE.

Hi f2u Tu fapeat 5 ® wE 3T R =EA i

(1)  (B). (D). (A), (C)
(2) (C). (D). (A). (B)
(3) (A (B). (C). (D)
(4) (0. (A). (D). (B)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

=97 (D) : o AL AL H, i ades & - dfdg Ji e wiEs
o (II) : TH 35 AR NUE. H WO 3 - el deH W% Ufded-wiT BR A Ui
AREH

I T F ATAF °, 59 2w e 8 9 98 39w 999 Fi

(1) = (I) = (1) 341 9 2
(2) % (I) 3% (1) 2F wEe 3

(3) w9 (1) Geg 2, e =94 (1) 3809 2

@ F (@) A 2, A e (D) w2



[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

fafafas 8 9 FH-315 o FoF I Ha1 8 one w1 A F gfae @ awstag 27
(A) TR TES TF T
(B) HH-=E g

(C) Tl 2= § swar fafwemda foan

(1)  (A), (B) 3 (C)
(2)  FFA (A) 37 (C)
(3)  =aA (B) #7 (C)

(4)  FAE (A) #h(B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(A) HTML (1) Semantic Web

(B) Web 2.0 (Il) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)  (2) (A)-(111), (B)-(I), (C)-(1V), (D)-(11)

(3) (A)-(11), (B)-(IV), (C)-(1), (D)-(lI1)  (4) (A)-(IV), (B)-(llN), (C)-(1), (D)-(11)
-1 % =y g1 =1 o= i

g Ti-11

T 13 T
(A) T=F.TE.E. (I) TEF 99
(B) =% 2.0 (II) BiF =hied =t = To1T SUe-e =1 T
(C) 4 3.0 (IIT) =% U= =1 94 = Teo @ 67 72 wras
(D) =itz . (IV) =reAdiiza 5=

e fou 7Tu feekeml | | =E IO 1 9 it




(1) (A)-(L1L), (B)-(IV). (C)-(L), (D)-(LL)
(2) (A)-(III). (B)-(I). (C)-IV). (D)-(II)
(3)  (A)-OD. (B)-(IV). (C)«(I). (D)-(IIT)
(4) (A)-(TV). (B)-(IIT). (C)-(T), (D)~(IT)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 3 o fam o #

w4 (D) : T TS H UfaE THE hE H 4EU-9h & WY-AY AEas-Eee @
TS 2
o (II) : HEE SAUR, ST weyg 5 1 )

ITURE YA = A °, Fi= 5 e el 3 8 w8 3w w0 == i

(1) =3 (1) 31 (1) 31 aeF &
(2) = (1) 3 (ID) 3T 379 2
(3)  F (1) wex 2, wfd wea (1) 5 2

4)  =wA (I) ES B, SiFE w0 (D) ' 2

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

frfetfga & @ =i @ 29 30 fim ae f auar ae fGva % geg 98 g-ag-sa-gaE e
TR B Heim B 7

~

(1) == (2) 4Na
(3)  arretem (4) wE-3m

[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).



(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

I =t wum fou u B - um wfaewen (Assel‘t.ionﬂ)%ﬁwﬁ%'ﬁg?r%ﬁﬁ?ﬁﬂmﬁm (Reason R) =

A (A) : Ayl fawm wa (wm 2 ) $io w2 ofimd T s 2
F (R) : F= TH.I1H. waEEg A

IR HA! % e °, = e e faeat @ @ weg g 3w o = i

(1)  (A) 3R (R) ZHT WE & 3T (R). (A) i #el =me 2

2) (A FR (R)FF T F, @ R), (A) F wE = 79 2

(3) (AT E, A (R) 78 T =

@) (AT FE R, @ (R) "R

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13859]
2.2

[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

= ?'T 2 1%'17 . ﬁ L A9F2H (Assertion Ay F ¥ ° T 3 a HT 3G F FHU (Reazon R) =+

Eau -

TR (A) AT 311 T F 74 § T=EE R AfEgann miftaas a3 = e off s
A AT H GHETET 9 R

F (R) : AT F A H 7 TR SF T AT 2

IUCE FAAT o A °, A= 50 T faEen 8 | wdi 3w 99 A

(1)  (A) 1 (R) 5H1 @4 7 311 (R). (A) Fi 78 =amzn 2

(2)  (A) #r(R)TH T E, A (R). (A) F T s T 2
(3)  (A)Te 7, A (R) 781 5877 2

(4)  (A) 3\ 74 2, @t (R) 94 2

[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]
1.1



[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) ~57% (2) ~ 42%
(3)~37% (4) ~ 28%

1)  ~57% (2) ~42%
(3)  ~37% (4) ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867]
2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

freaferfas § == @1 g7 BA% "6 J TEAE = H Avdrm vy watda e w w ae

(1)  w&he WEFHGH o7 (2) E HEFHOH god
(3) &t (4)  wATER-=Hi=a

[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13871]
2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4. 4 [Option ID = 13874]

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

o 1. 5.0y, = A & -

(1)  ==198 5= H2el iy (2) =aTEd =5 wiee faeen
(3)  Te2el WIS AP Hise Thieg (4) sz &1 ATF GeZe THE

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13875]

2. 2 [Option ID = 13876]

3. 3 [Option ID = 13877]

4. 4 [Option ID = 13878]

38) COVID-19 acronym stands for

(1) Corona Virus Disease 2019

(2) Corona Virus Disease strain 19

(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FifTE-19 =0 gaee 2 -

(1)  =hOeT aTstd SiEtE 31% 2019

(2) R A e 2 19



(3) FHAMAT FTEH T592T 317F 2019

(4) =R A feHE @ 2020
[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13879]
2.2

[Option ID = 13880]
3.3

[Option ID = 13881]
4. 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Hfifa (NITI) =T =1 5o 2 -

(1) 99 S=EREgEA B g sfea

'\ oy P S SOl i < v 1
(2) AU SEZHZ ATE 2] 2 U

(3)  9rel SEfEgE A A A ST

(4) TS ST AT ZEFEEIH & A

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]
2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4. 4 [Option ID = 13886]

40) Match List | with List Il :

List I Listll

(Days Celebrated) (When)

(A) Earth Day (I) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (IV) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1), (C)-(I), (D)-(IV)  (2) (A)-(1V), (B)-(llI), (C)-(1), (D)-(IN)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI)  (4) (A)-(IV), (B)-(ll1), (C)-(I1), (D)-(1)

Tt-1 % g F-11 7 e Fifsm
=1 T-11
femm feroft
() t-foam I 24 sHad
(B) @g T ¥ fgam In s
(C) TEEw-famm (IIT) 24 HFsW
(D) =g foream foam (IV) 22 =5

= fow U fapewi | O wE 3T 7 = i

(1) (A)-(D). (B)-(III). (C)-(II). (D)-(IV)
(2) (A)-(IV), (B)-(IIT), (C)-(I). (D)-(1I)
(3) (A)-(ID). (B)-(IV). (C)-(I), (D)-(1II)
4 (A)-(IV). (B)-(I1I). (C)-(1I). (D)-(I)



[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]
3. 3 [Option ID = 13889]
4. 4 [Option ID = 13890]






